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(1) K&
il
e w7 A (Cs—134, Cs—137) : AHiSIZB W TR
WA - KM
e w7 A (Cs—134, Cs—137) : AHiSIZB W TR
T PRIk
Wt v A (Cs—134, Cs—137) : AHiSIZBW TR
(2) EEH
il
Cs—134 : ™ ~ 85 Ba/kg (§ziE)
Cs—137: 1.5 ~ 630 Bq/kg (§2iE)
WA - KM
Cs—134 : ™ ~ 300 Ba/kg (§ziE)
Cs—137: 1.7 ~ 2,100 Bq/kg (§%iE)
AV
Cs—134 : ™ ~ 66 Ba/kg (§ziE)
Cs—137 :  0.90 ~ 500 Bq/kg (§5iE)
(3) JELIERE
a. T
Gl
Cs—134 : " ~ 400 Ba/kg (¥z)
Cs—137 : 2.4 ~ 3,400 Bq/kg (§%)
WA - KM
Cs—134 : "t ~ 240 Ba/kg (¥z)
Cs—137: 6.2 ~ 2,000 Bq/kg (§%)
b. ZEfEfR &=
apll 0.04 ~ 0.24 pSv/h
WA « KIEHL 0.04 ~ 0.14 uSv/h
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RE
BRI — . Tl kP . __ —ikEH _ __ bﬁzﬁﬁﬁ%ﬁi@;‘z (Bq/L) N
o ik H — o [k | Bk s BRI [ ss I Wt v Y A i %
() (m) (em) [ (@S/m) | (mg/L) | () Cs-134 Cs-137
5A11A [ 16.0 0.2 11.4 0.0 HHrOH >100 15.4 <1 0.3 <0.76 <0.75
. ol 818 H i} 22.3 0.3 16.7 0.0| A AEHOEADN >100 13.8 2 0.6 <0.62 <0.80
11H9R i 13.7 0.3 10.2 0.0 HkAH O >100 13.6 <1 0.1 <0.70 <0. 69
I 1H29H B 0.2 0.2 1.9 0.0 HEHOD DT VKA >100 14. 4 <1 0.1 <0.69 <0.84
5H12H E] 15.6 1.0 12.7 0.0 JR I3 D ik 88[ 2,880 3 2.3 <0.83 <0. 88
9 PG 8H10H 551 21.2 0.7 16.9 0.0  JRHDFEAZ DT 43 39.0 14 7.4 <0.67 <0. 80
11H10H i 8.4 1.2 11.8 0.0 JR I3 D ik 91 546 1 0.6 <0.70 <0.48
11301 i 2.0 1.5 6.8 0. 0] 115 VR A D kA & O 3 >100[ 1,550 <1 0.6 <€0.51 <0.63
54120 E] 18.4 0.2 14.3 0.0 W 2% K 2 D Bk >100 14.9 1 1.6 €0.77 <0. 80
3 L ek 819H 2 23.4 1.0 17.7 0.0 Jmfmﬁygg%o’f:ﬁ 41 8.4 13 7.6 €0.92 <0. 69
11H11H fitf 14.3 0.4 11.4 0.0 B % VK 7 0 Bk >100 10.7 <1 0.4 <0. 68 <0. 88
L e 11291 fif 1.6 0.3 3.7 0.0 % VIRH D >100 12.5 1 0.7 <0.83 <0.80
5120 [ 16.8 0.3 20.3 0. 0] 1%V K Z D kA % i U7z 3 70 420 7 3.9 <0.68 <0.79
Ao L 819H = 26.0 0.6 17.9 0.0 P12 VKRB D 52 12.8 23 6.5 €0.75 <0.63
1110A [ 15. 1 0.6 111 0. 0] 1%V K Z D kA % i Oz 3 >100 31.2 <1 0.5 €0.73 <0.75
] 1H29H fif§ 2.4 0.6 4.4 0.0 JR 3D #kk >100] 1,260 2 1.6 <0.86 <0.70
5120 [ 17.1 2.7 14.0 0.0 W1 % WK I 0 Bk 83| 4,230 2 1.3 €0.72 <0.79
5 ST O 8H10H = 21.3 1.8 18.4 0.0 JRJ&)&J%%%UV:% 59 39.4 7 3.9 <0.88 <0. 69
1110A [ 16.5 2.6 11.6 0. 0] WEVVR A Dk Ir 2 O B 82 475 1 0.9 <€0.84 <0. 69
1300 B 0.7 3.8 2.9 0.0 JR 3D #kk 35[ 1,850 2 1.4 <0.65 <€0.92
5410H R 13.7 1.0 13.8 0.0 IRAHDfkIr % OV 8 25 493 19 17 <0.68 <0.75
N — TG 819K i 23.8 0.5 19.9 0.0 mamﬁ@g%mf;ﬁ 25 32.7 25 22 <0.58 <0. 69
11H14H E] 13.8 0.7 12.3 0.0 W1 % VK I 0 ik 70] 1,920 3 1.9 <0.81 <0. 80
14300 = -0.8 0.8 4.3 0.0  JRHDFEAZ O 18] 2,520 55 48 0. 66 <0. 80
5H9H [ 23.8 0.2 22.2 0.0 W1 % VK I 0 ik 90 25.0 3 3.3 <0.76 <0.84
i 7 AN T A 8/4H E] 22.2 0.3 21.5 0.0 B35 WK Dk I % 4 0= 8 88 16.3 4 3.5 0. 55 <0. 66
N ' ; 11LH4A g 13.9 0.3 12.0 0.0 B 2 WK 0D ik >100 12. 1 2 2.4 <0. 86 <0. 66
] e 128K 2 0.3 0.3 0.4 0.0 P12 VKRB D >100 20.8 <1 1.5 <0.69 <0. 69
5H8H [ 24. 1 0.2 20. 1 0.0| KRHDFKAEHOTH 7 24.5 110 120 <€0.83 <0. 80
s ey I 8/4H = 21. 1 0.3 22.6 0.0 JR 7D #kk 55 15. 1 11 6.9 <€0.51 <0.84
11H7H i 14.9 0.3 9.1 0.0 JR I3 D ik 90 12. 1 3 3.1 <0. 63 <0.63
] 128K 2 0.3 0.3 0.3 0.0 JRH D >100 23.9 3 2.8 <0.55 <0.48
5H14H E] 12.6 0.7 12.4 0.0 JR I3 D ik 25 10.8 29 22 <0. 63 <0.75
" " " 8A1LH 22.8 0.7 21. 1 0.0 JR 3D ik >100 12.3 3 2.7 <€0.59 <0. 69
o A kI SR CER) i 11H12H E] 10.5 0.3 10.3 0.0 B % VK 7 0 Bk >100 12.2 1 1.5 <0.70 <0.75
L 11251 fif 1.5 0.4 L1 0.0 % VIRH DB >100 15.4 1 1.2 <0.63 <0.88
4& 5/8H [ 21.4 2.2 11.2 0.0 W % K 2 D Bk >100 9.5 2 1.6 <0.67 <0.92
N . . 8/116H = 18.3 1.2 16.0 0.0 W15 VKA D Hkk >100 9.2 2 1.2 <€0.81 <0.80
10 )7JI<| —a L i (GRS 2) 11H6H i 14.5 0.7 10.2 0.0 B % K 7 0 Bk >100 1.5 <1 0.6 <0.73 <0. 66
= 1I31H i 0.8 1.2 1.1 0. 0] 115 VR A D kA & i O 3 >100 22.2 <1 0.6 <€0.70 <0.75
54 18H i 22.9 0.3 13.6 0. 0] 1%V K Z D kA % i U7z 3 95 1.6 4 3.3 <0.76 <0. 69
.. g 8J115H i 21. 1 0.6 19.3 0.0 JRH D 39 9.5 13 7.0 <0.81 <0.88
1 —al iR 116H [ 14.2 0.4 9.7 0.0| #kAHEHPLEALOH >100 12.6 <1 0.6 <€0.63 <0. 69
L P o 13271 = 3.7 0.2 0.4 0.0 % VIRH DB >100 13.3 <1 0.9 <0.77 <0.74
5/18H [ 23.6 0.3 14. 6 0.0 W % VK 2 D Bk >100 6.1 3 1.7 <€0.54 <0. 69
g 8J116H 2 21.6 0.5 16. 4 0.0 FEREAD D TV >100 8.1 1 0.9 <0. 69 <0. 55
12 BT BN 116H [ 12.7 0.6 9.3 0. 0] 1%V K Z D kA % i U7z 3 >100 8.4 <1 0.4 <0.87 <0. 55
] @il 1270 i -1.5 0.3 0.8 0. 0]k 2 BV A D 5 T VIR ) >100 9.1 <1 0.3 €0.72 <0.54
5H18H i 17. 1 0.3 14. 1 0.0 IRADfkIr % OV 8 38 14.1 14 9.9 <0.70 <0.88
5 - 8/15H = 23.2 0.8 22.5 0.0|  JRADREIEH O 51 21.0 16 9.5 <€0.69 <0.48
1LATH [ 18.3 0.5 1.5 0.0 B2 WIRH D 82 12.7 3 2.5 <0.88 <0.92
128K 2 0.4 0.3 0.8 0.0 12 VKRB D >100 19.7 3 2.2 €0.717 <0.70
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Kbk s I @ e T HO PR EORIE (Ba/L)
) ® ] B B |mas W~ 7 A e
5A110 = 1 G o5 G — (cm) (mS/m) | (mg/L) Cs—134 Cs-137
14 @il - - - - K% 0¥k i 12| 1.6 74
i 111 F A Tk 8ALH | & 22.9 13 213 0.0 RO M > - <0.63 <0. 96
11H12H = - - 12.8 23 <0. 65 5
2 11.1 0.6 9.5 0.0 IKBDfkA % O e 56 168 7 > —
— 1250 | i =1 0% o5 o . <0.63 <0.80
S 160 =y ) .0 KA Ok E O B [ 54 202 3 0.92 0
- ) 6 B 2 o6l 125l 00 2D R 3 52| 5.8 5 ) —
ik () 8A1TH = 22.7 0.4 17.2 0.0 IR 73D ¥k [ 58 ) - T 2.5
11H13H i 13.6 0.5 9.8 - — 7.4 7 €0.75 €0.92
. . ] . 0.0] Ot -
— e ie7H | % 18 R bl 80l A 0.9 <075
SATH | W 6.6 05 1L9 - m - ~ - HEOh, BIRCET
‘ . . . 0.0 B % VK B0 ik 1 - HEOR, RIRTES
16 PN L] Kt Biidn | & 22.2] 0.6 19.2[ 0.0 W?f@ﬁ’f;{* m I > .78 <0. 63
UAIBH | 7l o4l irel 0.0 G fm S U <0.51 <0.63
L D T = . e = &2 ) 100] 122 1 €0.73 <0.75
: : HHO D FVIRE e >100]  14.5 1
7 - SHUE | W 3.0 L2 133 0.0] KAORAEEBOTR I = — <0.68 <0.75
17 KRGy JIHEXN  [EPR3 R A 8141 55 23.8 1.4 21.6 0.0 JRF D kk - 0 = e - <0. 68 <0.55
11H13H i - - P Tt 54 14.6 9 0. 6 5
i 10.7 15 9.4 00| KBORB AT e 47| 298 6 . 055
T 124H E -2.7 1.6 1.7 0.0 LR - — <0.88 <0. 63
SHIiR T 50 = - : VR 7 D Bk i3 >100 20.4 2 <0. 86 <0.55
. . 13.3 0.0 IR 20 3 - =
18 |HRI N LRy sA14R | & 23.8 0.6| 224 o Rifcf; = 1l 233 80 0. 18 0,69
1130 | W 6.5 0.5 7.8 0.0 TSR I m él ;; 0 3 <0.67 <0.96
124H = 9 5 7 P - 5 L1 7 20. 66 n
= 2.6 0.6 2.7 0.0 JRHOikIr %508 I 70 25.6 5 0 ?b <0.69
o s SH190 | ol 1] 0.7 17.0] __0.0] KHokbEHOTE m PT RTE > <0.77 <0.84
’ 114 (e PN 8112 7 5 ! = .6 29
& Tl () TART - Tk 11&!122 & fﬁlt; (l).z 20.5 0.0 IRBDF I E BT m o BN = ig Zs? ig (7;13
= ) 5[ 10.0 0.0 KD M 0 - -
- Ten T —= ™ o o3 X ] 146 7 0.70 <0.80
o — : : KRB D [ 73 19.7 6
o0 | 547 T o S . 0. 61 <0.66
2 R i , 7 ’ — i 28] 1nsl 16
. i v sA12H | W 217 8.8] 2.3 0.0 RGO m = <0.78 <0.80
A | & 14.3 o 101 0 e 2100 519 10 <0.71 <0.69
: : -0 RE VR 2 D B e >100]  90.7
1A23H 2 5.0 6.5 2.1 0.0 W R 0 Bk = : 2 <0.72 <0.75
21| | SHI9A | B B 01 2o 0o B RO fa O] E o 2 <078 20,88
ER I (/N e 8112 R 2 = . 67 -
/NEFAT (/1NBF) T J12H 17 22.8 0.8 20. 4 00| WV IK 7 DRk B B O [ = TN = <0. 69 <0. 69
11H14H 2 9.5 0.4 8.7 0. 0| eV K 2okt e : <0.49 <0.74
— 5 . VK B Dk e O 3 4 54 13.6 5 -
1230 | W 5.5 0% o 0 — . 5 0.75 <0.80
o — : : KRB D [ 74 12.9 1
218 | W 25.9 0.7 239 0.0 K50 Fidk e ) 0.0 <0.55
22 SAEIIE 8H22H 2 28.0 0.5 23.4 0.0 K 10D ik s 19 287 30 <0.57 0. 84
L0 | 15.2 0.7 122 0.0|  IRZ DG BT LT B <0.71 <0.84
)il - - : IR D kI e i T 2 4 84 219 6
e 17220 [ 0.2 0.4 0.5 0.0 R I D ik A m o 7 <0.80 <€0. 92
5H21H [ — : 13 <0.74
2 EAIN G 8A22H H; ;g 2 (l> 2 o &8 IR 2D ik e 28] 1,050 18 <0 ;3 ig Zi
T = 11-9 0.5 25. 1 0.0  JRBZDFEF % M O3 i 24| 1,140 17 <o‘ 83 <o‘ 84
B ) ) 13.2 0.0 K50 Hehk r s - -
Ul2zn | % 0.2 0.5 7.2 0.0 % OB 52510 3 <0.70 <0. 69
SH2LH T o T 21-8 0-0 BEAHD D TR I >100] 4,430 1 <0. 60 <€0. 84
1 R " - : : : IR DBk [ 5 - -
24| BULEE (RBHID [ 101E Gy - s (2020 | B 2] 00| 248 0.0 ke e T 3 w51 <0.63
L0 | 11.2 12| 155 oo RAoah R OrE o613, 500 > 0.79 <0.69
- . . JR I Dk % K O 3 4 551 3,920 5
ég T Lo 0.8 45 001 WISVKADHH = 5100 4,380 2 R T
21H i — : €0.79
ol v o ! i 26.6 0.5 22.1 0.0 R0 Bk m e TR = 7 .80
AL sfo2H | & 28.2 0.6] 220 0.0 K0 Fkk = = : <0.87 <0.69
11H17H = 7 16.3 26 €0. 59
. 2 7.1 0.4 8.1 0.0 R0 Bk i o BT - 9 <0.80
— . 1i210 i 15 0.4 32 0.0 DR R DR m - <0.85 <0.96
] shon | & s T o Fanrn ;; 2100l 175 2 €0.70 <0.81
26 RS 8A23H | W 33.8 0.7 2.3 00 R = 2; 54.6 16 <0.60 20.69
T o3 IR - 19.9 22 071 <075
- - . 0.0 JK 200D ik e c
1211 2= 5.2 0.3 1.0 " 15 243 7 <0.91 0.92
= i 3 3 0.0 TR Tr Dk Ir e B O I =
ok e i N2 B 67) 35.8 6 <0.61 <0.48
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B KE
BRI — . Tl kP __ —ikEH _ _ __ bﬁzﬁﬁﬁ%ﬁi@;‘z (Bq/L) ]
. (©) (m) e wE [aamge] s i o D 4 %
o A i A © | @ e e | @s/m | mg | @ [ s [ csim
5H24H ® 22.6 0.8 21.5 0.0] IRHOfkI O3 22 22.6 28 23 <0.76 <0. 80
o1 & [ G 8123H [ 30.9 0.5 25.8 0.0 myyﬁ*&%%zﬁf;ﬁ 45 18.4 11 4.3 <0.66 <0.80
It 11167 [ 9.8 0.5 9.6 0. 0] WEVMK I Dk Jr % 5 Oz B 83 67.3 4 2.3 <0. 60 <0.84
. |m Wt 1218 [ 5.3 0.5 3.7 0.0 MWK Dk % 45 O 38 46 26.4 10 7.0 <0.89 <0. 80
JJII o 5524 F & 20.0 0.5]  20.8 0.0 IR 2D Bk 44 355 10 8.4 <0.73 0.75
N . 8/123H [ 28.3 0.8 23. 1 0.0 R 2D ik 56 493 6 2.0 <0.69 <0.75
28| A | B D 11167 [ 10.3 0.3 11.2 0.0] IRHOfkI O3 78] 1,430 3 1.3 <€0.61 <0.75
1210 = 4.9 0.4 4.0 0.0|  JRADREIEH O 79 687 3 2.8 <€0.80 <0. 69
5H27H & 19.0 0.3 17.5 0.0] IRHOfkI O 3 90 492 6 3.6 <0.67 <0.63
8123H [ 32. 1 0.6 23.7 0.0 JRH D 64 52.2 5 2.5 <0.66 <0. 55
2 A P LA st - At 11H16H fitf 11.1 0.6 11.6 0.0 JR I3 D gk 93 1,150 3 1.5 <0.61 <0.92
14200 fiff 1.8 0.3 4.0 0.0 W1 2 WK D H 83 348 3 2.4 €0. 61 <0. 66
T 5H27TH ® 19.2 0.3 16.2 0.0 HHrOH >100 10.0 <1 0.9 <0. 60 <0.75
i 8/124H 2 26.7 0.5 19.7 0. 0] kA2 M= A O 5 VIR ) >100 8.8 1 1.2 <€0.71 <0. 55
R E BT 114170 [ 9.7 0.4 8.1 0. 0]k 2 BV RO 5 VK ) >100 9.7 <1 0.3 <0.76 <0. 96
] Fﬁ 13190 fif 7.0 0.4 4.4 0.0  HkAHOD I TVIRE >100 9.8 1 1.2 <0.67 £0.75
K 5H27H ® 17.3 0.7 16.5 0.0 ,X]N)ﬁf( 50 18.7 11 8.4 <€0.70 i& 88
4 8126 H i 22.5 0.7 20.4 0.0 JRHD 21 18.0 64 53 <0.66 0. 69
aaf * i Ml it 11LH17H [ 10.2 0.3 9.6 0.0 JK 2D 18 25.8 8 11 €0.75 <0. 80
11200 [ -1.0 0.4 2.5 0.0 VR D 8 17 .6 41 36 <€0.70 <0.63
T 5H27H i 16.5 1.0 16.7 0.0 JK 3D 33 32.4 16 13 <0.68 <0.75
e, b 8126 H [ 25.2 1.0 22.8 0.0 JRH D 18 10. 6 45 47 <€0.59 <0.88
N 11LH17H i 11.4 L5 10. 6 0.0 IR0 Bk 74 779 4 2.3 <0.61 <0.75
11200 [ 6.2 0.9 4.9 0.0 JRH D 23 56.8 21 23 <€0.61 <0. 69
4H27H ® 16. 4 0.6 13.4 0. 0] WEVNK I D 8 7 % 5 Oz ik 77 17.2 7 3.2 €0.74 <0. 80
5/28H [ 20.9 0.5 18. 1 0.0 12 K D Sk 51 16.7 11 6.3 <€0.76 <0.80
6120 [ 21.2 1.2 19.7 0.0 W % K 2 D Bk 70 22. 1 7 3.4 €0.74 <0.75
1A [ 32. 1 0.8 27. 1 0.0 IR 2D ik 78 21.3 3 2.0 <0.68 <0. 55
a3 IS 8H30H 5] 20.7 0.6 22.4 0.0 Jxl}0>ﬁ%3< 68 21.1 5 3.9 <0.81 <0. 69
91130 [ 30.3 0.6 22. 1 0.0 IR 2D ik 82 18.9 5 3.8 <€0.80 <0.80
10 16H ® 15. 1 0.3 15. 1 0. 0] 1%V K Z D kA % i U7z 3 78 19.8 6 3.7 <0.65 <0.63
iy 127 12H = 1.4 0.4 5.7 0.0 W1 2 WK D H >100 22.3 3 2.0 <0.75 <0.92
i 1160 [ 10. 0 0.4 4.0 0. 0] 1%V VK Z D kA % i U7z 3 >100 22.0 2 2.1 <0.68 <0.75
PR . 2J18H fiff 3.2 0.4 4.3 0. 0] B2 WK Dk dr % i OV 3 >100 23.7 2 2.1 €0. 51 <0. 80
| [PrER HET 1A21H | & 16.4 0.3 142 0.0 17 D ik 9] 16.7 6 2.9 <0.76 <0.69
ﬁ 5/28H [ 20.9 0.5 18.9 0.0 12 K 22 D Bk 66 18.8 8 4.2 <0.57 <0.75
o 6120 [ 19.6 0.5 20.3 0.0 W % K 2 D Bk 95 22.3 5 2.7 €0.71 <0. 55
TH11H fiff 30.5 0.3 29.3 0.0 W1 2 WK D H >100 20.9 4 2.2 €0. 61 <0.70
34 e 8H30H 5] 22.0 0.4 22.8 0.0 ﬁ)iéb\miﬂ)ﬁh@ 84 19.4 4 2.5 <0.79 <0.84
! 91130 [ 27.0 0.3 22.6 0.0 JR D Bk >100 19. 1 3 2.1 <€0.76 <0. 69
10 16H ® 12.6 0.7 15.0 0. 0] 1%V K Z D kA % i U7z 3 82 19.8 4 2.6 €0.73 <0. 80
12)] 121 E 1.0 0.3 6.4 0.0 5 VIRH D >100 21.5 3 1.8 <€0.48 <€0.92
1H161 i 11.1 0.3 6.2 0.0 D VKRB D8 2100 21.6 2 15 <0.75 <0.84
2/18H i 4.5 0.3 4.8 0. 0] 115 VR A DA & O 3 >100 22.8 2 2.0 <€0.61 <0.84
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B KE
BRI J— el iR Ak —fXE A R B E (Ba/L)
No ik ik — " Lo | [am [ ks o FOE [aaenE] s | WE R S 5 2 jren
() (m) (em) [ (mS/m) | (mg/L) | () Cs-134 Cs-137

4H27H -3 13.5 0.4 13.8 0.0 JR I D ik 68 16.2 9 3.6 <0. 60 <0. 70
6H11H i 19.6 1.0 19.7 0.0  JRHDFEAZ O 70 22.1 6 3.3 <0.76 <0. 55
e . 8H28H -3 22.9 0.5 24.3 0.0 JR I3 D ik 58 17.9 9 6.2 <0.62 <0. 80
» TR AR A 10/ 16H 2 11.4 0.5 15.2 0.0 #HEHOHELDON 84 19.3 6 3.3 £0.75 <0. 80
12120 i 4.8 0.3 6.5 0.0  JRHDfkI % O 8 >100 21.2 2 1.8 <0.86 <0. 80
L 17 = 4.2 0.5 4.2 0. 0] 115 VR A D kA & i O 3 >100 22.2 2 1.8 <€0.80 <0. 60
4H25H i 18.7 0.8 8.7 0.0 JR I3 D ik 55 6.2 4 7.6 <0.69 <0. 69
A (b 7121 = 29.6 0.6 20.2 0.0 1% R 50 ik >100 7.3 1 0.9 <€0.48 <€0.92
(A NURF REVERT CHIAE) 11206 | & 16| 05 98 00 BBVRADRR 100 6.8 g 1o <0.78 <0.92
L g 1160 [ 8.8 0.4 3.4 0.0 W12 R A0 ik >100 7.5 1 1.3 <€0.78 <0.75
414250 [ 21.4 0.4 12.5 0.0 JK D Bk 95 12.4 5 5.1 <€0.55 <0. 66
37 1 TLERE 1A [ 36.3 0.4 27.4 0.0 JR D Bk 67 11.2 8 6.6 <€0.70 <0.75
11H19H -3 6.3 0.5 8.9 0.0 JR I D ik 2100 111 2 2.1 <0.68 <0. 69
L 1H17H [ 5.6 0.3 4.4 0.0 W5 WIRH D >100 15.7 3 2.2 <€0.51 <0.54
414250 [ 21.9 0.5 14.5 0. 0] 1%V K Z D kA % i Oz 3 >100 16.4 2 1.9 €0.71 <0.75
' - ) 7121 = 29.5 0.4 21.8 0. 0] 115 VR A D kA & O 3 >100 24.6 2 1.5 <€0.90 <0.63
58 il B BT 11190 ® 6.7 0.7 7.9 0. 0]k 2 BV RO 5 VR ) >100 18. 1 3 2.0 <0. 60 <0. 69
L 1H17H [ 6.3 0.3 5.6 0.0 [N >100 22.7 2 1.6 <€0.70 <0.75
5H26H ® 18.0 0.5 17.0 0.0 JK 2D 28 19. 1 25 16 <€0.83 <0. 69
. 8J128H & 28.4 0.7 21.5 0.0 JRHOikIr %508 48 16.4 14 8.4 €0.72 <0. 69
b I A FIEAT - SFRRT 11190 [ 6.0 0.5 6.8 0.0 JK 3D >100 21.3 3 3.0 <0.68 <0. 96
L 11180 [ 1.7 0.4 6.3 0.0 JRH D 24 21. 1 19 17 €0.74 <0.84
it 5H26H -3 17.5 0.5 15. 6 0.0 JR I D ik 42 13.4 8 6.2 <0. 65 <0. 63
o) 2 . 827H [ 27.7 1.0 20. 1 0.0 JRH D 45 10.9 14 6.8 <€0.71 <0.84
| Aoy [ P SR 11190 i 5.7 0.4 8.7 0. 0| 15 VKB Dk & i U2 3 >100 13.2 3 2.5 <0.79 <0. 96
L ﬁ 11180 [ 11.0 0.5 4.8 0.0 JRH D 18 14.5 26 23 <0.57 <0.75
w 417260 i 17.3 0.6 15.2 0. 0| BV VKR Fr sk I A2 i OV 8 52 12.3 16 9.1 <0.67 <0.92
6H11H i 23.0 0.3 19.9 0.0  JRHDFEAZ DT 28 15.8 16 9.7 <0. 82 <0. 88
. . 8H27H i 23.6 0.8 20.8 0.0  JRBDfkI %O 8 15 10.9 15 8.4 €0.75 <0. 69
4 WA RA AT - SRIEHAT 10/] 141 = 14.5 0.6 15.2 0.0 JR D Bk 53 14.9 11 7.0 €0.72 <0.88
12130 i 3.6 0.5 5.5 0. 0] 1%V K Z D kA % i U7z 3 >100 16.0 2 1.5 <0.66 <0.63
L 11180 [ 6.9 0.5 5.0 0.0 JRH D 18 15.9 28 25 <€0.76 <0.75
417260 20.6 0.8 14.5 0.0| JRHDHELEHQ 69 15.0 8 6.6 €0.74 <0.63
57126 17.4 0.7 18.0 0.0 JR D Bk 49 16.7 10 6.9 <€0.78 <0.88
6411H 26.8 1.2 20.9 0.0 JR I3 D ik 53 20.7 6 4.0 <0.61 <0. 75
1A 30.9 0.8 28.3 0.0 JR D Bk 65 19.5 4 2.6 <€0.74 <0.84
. N N " 8526 30.6 0.6 24.5 0.0 JK 3D 35 15.5 17 11 <0.80 <0.75
2 TR FTER A8 (B ) 9H13H i 25.9 0.7 20. 7 0.0 SR 70D ik pig 64 17.7 6 3.6 <0.67 <0. 84
10141 ® 14.8 0.4 16.5 0.0 W % K 2 D Bk i 73 20.2 6 3.6 <€0.84 <0. 55
L - AT 127 13H fiff 3.0 0.4 5.5 0.0 U\—'Zf@ﬁﬁ% I >100 19.7 2 1.8 <0.83 <0. 84
1190 i 5.9 0.4 1.6 0.0 JR 2D i 43 17.4 11 8.4 <0.66 <0.84
L 218 H [ 1.2 0.4 3.2 0.0 JR D Bk >100 19.3 2 1.8 <0.88 <0. 69
1H26H -3 18.4 0.8 16.7 0.0 JR I3 D ik 2100 224 4 4.4 <0. 67 <0.84
6111H [ 22.7 0.8 21.5 0.0 JR D Bk 65 436 5 3.3 <0.57 <0. 69
N U 8H27H [ 27.3 L1 24. 1 0.0 JK 2D i 37 20.4 10 8.3 <0.68 <0.84
4 FTR) I O (ERXAE) 10/ 14H 2 15.7 0.8 16.5 0.0]| F 2 WIRAB DRk 2 O3 | it 58 98.3 7 4.2 €0.54 <0. 80
12H13H i 4.1 0.9 6.0 0.0 JR I3 D ik i >100 647 3 1.7 <0.75 <0.84
11190 [ 6.9 0.5 4.9 0.0 JRH D [ 25 154 22 7 €0.79 <0.88




N

=

BRI )1

JEE

FRIRUE wi | ek EEE JEHEB R [Ba/ke (H0T2) ]
RRE FE A o) | w0 [Tem | e % VAT Y o 2 %
No K, Ee) kS & = 7 VI e 5 o | R e T e
(c) (cm) MBS | RS Hiibsy | MBS [V H 4 (g/cn’) Cs—134 | Cs—137
5HI1LH 0. IBR 0.0) 39. 5.4 .5 -
8H8H 0. AR 0.0) 16.0 2 D
1 &G
el 119A 0. R 0.0) 0. 6.6, 2 D
e 1H29H 0. IBR 0.0) 12. 19. 6| .6 -
- 5H12H L. 1k 0.0] .1 DS
; SHI10H 0. A 0.0) 2 2.628] Sk
2 i
R 1A 10R L % 0.0) X P
1H30H 1. % 0. 0] . 8 2.661) s b - i)
5H12H 0. (R 0.0) 5 2.806] -
8H9H 1. i 1.6 .8 2.
3 I
IS LALLH 0. 0.0 -0
17298 0. 0.0) 5
— o
ity 5H12H 0. 0.0) 7
SHOH 0. 0.0) 1
AR i
wI i 1A 10H 0.6 0.0 -0
17298 0.6 0.0) 1
5H12H 2. 0.0) 2
. SHI10H L 0.0) 7
5 SIE
Ft 1110 2. 0.0 3
1730 3. 0.0) 6
5H10H L 0.0) 8
. SHOH 0. 0.0) 8
6| w1 Wit
il e LI 14R 0. 0.0 8
1730 0. 0.0) X
5/9H 0. i 0.0) 7
i . 8H4H 0. BT 0. 0] .4
7 £ 7
i wRI P SR 0. g | 0.0 ¥
1A28H 0. i 0.0) 3
| — I ™
IR 5/i8H 0. i 0.0) 0
. SH4H 0. 0 0.0) 9
8 i)l I
i A 1A7H 0. 0.0) 1
1A28H 0. 0.0) 9 117.4
5H14H 0. 5.8 9
SHLLH 0. 0.0) 1
of [aEn SR (K
e EJ1I KK oK) L oI TVIvE] 0. 0 5
1250 0. 0.0) 4 i
4It 518H 2. 3 0.0 -9 W
I N , 8H16H 1. i3 0. 0] .0 -
10] il 5 (S
X A7 R 1A6H 0. e 0.0) 1 i
ES LH31H 1. i3 0. 0] -0 i
54180 0. K 0. 0] .0 j72R]
e SH15H 0. 3 0.0) 3 i -
1 )1 BRI
il R 11168 0. 3 0.0) 5
1A27R 0. 3 0.0) 0
| — I
e B 0. Bt | 0.0 ¥
- SH16H 0. 3 0.0) 0
12 EILA DA
kel 11168 0. 3 0.0) s
I R 1A27R 0. 3 0.0) 8 )
= 5H18H 0. IR 0.0) 0 3.5 27
1 - SH5H 0. 3 0.0) 8 3.4 %
N ! UATH 0. e 0.0 6| 4.9 30
1A28H 0. 3 0.0) 7 4.9 21




YR I (RE)  2/4

4 EEE
R A P Ty ———
b R RE TR FORTE Thake (F7D) ]
N ~ S (C) (m) TR # %, SRR i S o A 5
Yo Kk, sk T e ik _ _ - _ e NRES PO L]
(c) (cm) MBS | RS £oy | MEbsy | by SV Ry Ridgy %. (g/cn’) Cs—134 | Cs—137
5H14H G R 3 0.0) 0.0 0.0) 4.7 112|510 2545 on k-9 15 97 112]
y SHLLH 1.3 3 0.0) 0.0 0.0) 4 3.2 38.0 T 31 270) 301
u )1 G
il L R 1A 128 0.6 3 0.0) 0.0 0.1 2 110 50.1 V) 1 100) 111
1250 0.5 3 0.0) 2.3 0.5 4.0 3.5 0.9 ok 130 143]
5H16H 0.6 3 0.0) 0.0 0.0) 8 6.4 60.1 i 37 37
8HITH 0.4 3 0.0 3.1 0.5 .1 1.9 719 2.675| b - § 18 18
15 i
et () 1A13R 0.5 3 0.0) 0.0 0.1 2 40714 2668 29 29
1A27H D, R T
SHITH 0.5 12,0 3 0.0 _es.7] oL 48] 2.1 7.8 0.1 1.5 G 7.2
; 8H14H 0.6 19.1 3 0.0 o810 3.7 417 48 0.0) 1.2] 10
16) A iy
A K LI 13A 0.4 1L 3 0.0 200 17 23.0 0.7 0.1 1.2] 8.1
1A24R 0.3 2.3 3 00 158 5. 8.3 49.6] 144 2.0) 1.8 1
4It 5A 140 1.2 0.0 0.0) 0. 0.8 35 7 0.8 3.3 2. 153
- , 8H14H 1.4 0.0) 0.0 0. 0.3 6.9) 8.1 2. 162]
17| 1 |t i R OINE|
x RHFTIE IS R A 2 1A13R 1.5 0.0) 0.3 0. 11 1.0 3.9 2. 109.3
EN 1A24R 1.6 0.0) 0.0 0. 0.3 18 2.3 2. 103]
5H14H 2.2 0.0) 0.0 0. 1.0) 31,7 4 130)
- 8H14H 0.6 0.0) 0.0 0. 0.1 59.5 6 240) 262
sl e - i
oI Sl KT 1A13R 0.5 0.0) 2.1 0.5 3.7 6 19 19
1A24R 0.6 0.0) 0.2 0. 2.7 4 88 9
5H19H 0. 0.0) 0.1 2. 2.4 9 19) 19
. - SHI12H L 0.0) 0.0 0. 0 4 13 13
19) pssyll %I (i BHT - i
e 11 (57 T - g 1A 128 0. 0.0 88 7. 0 1s 15
1250 0. 0.0) 0.3 -6 4 15
5H19H 4. 0.0) 1.4 9 100)
i 8HI12H 8. 0. 0] 0.0 . 1 1.5
20 [IEE[ S]] i %
I RAL LI Pk el LA 4R 10. 0.0) 5.0 5
17230 6.5 0.0) 0.0 5
5H19H 0. 0.0) 0.1 1
. . SHI12H 0. 0.0) 0.0 4
21 B4 (1 Sk
U 1) HRT LA 4R 0. 0.0) 0.1 1
17230 0. 0.0) 0.0 0
5H2lH 0.7 0.0) 0.1 6
8H22H 0.5 0.0) 2.7 5.5
22 kiR
ZRU 1A150 0.7 0.0) 0.3 1
1H22H 0.4 0. 0] 1.8 .2 i 46
o)1 ok
i st 5H2lH 1.0) 0.0) 2.0 8 Tt 19 149)
2 - 8H22H 0.6 0.0) 8.7 9 o 4.2 32.2
i B 1LA15H 0.5 0.0 11 4.9) Tk 16 166
1A220 0. 0.0) 0.1 3 Tt ®) 17 197]
5H2IH L 0.0) 0.0 2 D 282
) i . 8H22H 0.6 0.0) 0.0 3 D 222
24 & DE(EEZ DIV T G IEHT - B
SULIERT - (HBFIID. | STl 7RI ZRORT SR 1.2] 0.0) 0.0 2 ; Tk 193]
1A220 0.8 0.0) 0.0 X D 224
5H2IH 0.5 00 2217 0 1.3 W - 7.0
8H22H 0.6 0.0) 0.1 7 2.0 i
25| L AL S
It LI 1LAITH 0.4 0.0] 16.0 . 1 L9 (AR 50]
1H21H 0.4 0. 0] 16. 6! 6] 1.8 . B 39)
Rzl )
ErI flityts 5H24H 0.3 0.0) 0.8 0 1.8 W - 6.7
8H23H 0.7 0.0) 1.0) 1 1.9) ) W - 6.0)
A 1A 16H 0.4 0.0 0.5 0| 2.9 75.6] 2661 8.8
1A21H 0.3 0.0) 2.3 1 18| 76.2]  2.6%6] i 6.3




BRI (RE)  3/4

. R
PR s | | | [ RE / BATHERRRE /s GeiE) ] -
o. Kk s, itk R I I s _ R, e Pt A i
(c) (cm) MBS | RS Sy (g/cn’) Cs—137
5H24H 0. 3 A 0.0) 0.0 41, 4 . 606 51
, - 8H23H 0. 3 K 0.0) 4.9 . 31. .1 . 666, 50|
& ;E il i 11A16A 0. 3 0.0 2.4 1.2 0| 2629 65
i Ul21H 0. 3 0.0 5.4 4.3 .3 637 73
Jl flityts 5H24H 0. 3| 0.0 1.2 0.6 2 11
ool Kl P 8230 0. 3 0.0 186 4.6 5 6.5
28| F |EALEI DA 1A 16H 0. 3 0.0 17 8. 0| [ 5.4
1H21H 0. 3 0.0 21.9 - 5.5
5H2TH 0. 3 i 0.0 0.0 i 8.8
, S e 8230 0. 3 [ 0.0 0.0) W 9.5
29| z3 | P ERHE AT - 40 Bt LA 160 06 3 ; o0l 06 > m
1201 0.2 3 AV =T 0.0 W - i 17 17]
5A27H 0.2 3 0.0 D 14 14]
. 8H24H 0. 3] 0.0 e 16 16,
30| 4 i 2 L
: LA 0. 3 0.0 106 419 19) 19
fﬁ UI19H 0. 3 0.0 259 298 D 13
X 5A27H 0. 3 0.0 0.8 18 W - i 76
NES™ - 8261 0. 3 0.0 0.8 0.7 56 400)
3 7 b At LA 0. 3 0.0 0.1 0.0 <10 59
1201 0. 3 0.0 0.0) 0.0 16, 140
5A27H 1. 0.0 0.0) 0.3 44 330)
|l e 8261 1. 0.0 0.0) 0.0 53 340)
| st LA 1. 0.0 0.0) 0.0 22 250 272]
1201 0. 0.0 0.0) 0.1 : 36 300) 336,
4A27H 0.6 0.0 0.0) 0.0 3 22 140 162
57280 0. 0.0 0.0) 0.0 1.4 29 210 239)
6120 1. 0.0 0.0) 0.0 -0 12] 130 142
THILA 0. 0.0 0.0) 0.0 . 7 21 150 171
e 8301 0.6 0.0 0.0) 0.0 0.2] 7 20 140 160
- LR 91 13H 0.6 0.0 0.0 0.0 0.0 9| 16, 140 156
101160 0. 0.0 0.0) 0.0 0.2] 5 15, 130 14
W1 12120 0. 0.0 2.1 0.4 1.4 2 8.3 92| 100.3
= Ul16H 0. o0 18 5.1 2.7 9 17] 86]
[ (— ] 2H8H 0. 0.0 2.2] 0.0 0. 4 120
i |FIRE R 4H2TH 0. 00 229 X 38
x 57280 0. 0.0 328 9.2 70
* 6120 0. 2.3 328 5.1 8
THILA 0. 00 323 18.2 54
N - 8301 0. 0.0 230 34
o AR 91 13H 0. 0.0 121 78
101160 0. 0.0 217 46|
12120 0.3 6.5 0.0 296 8
UI16H 0.3 6.5 0.0 226 8
2J18H 0.3 0.0 9.9) - 37




N

=

BRI )1

JEE

B — m—
- S FRCHTER BRI [Ba/ ke (Fei) ]
BRICH PN ) e T e oA
Yo K M4 Tk e - L PR —— -
© | Cs-184_| Cs137
4H2TH 0.4 13.7 3 0 3 4.7 10
6H11H 1. 18. 1 5 . 0 11 93
_— SH28H 0. 25,6 3 AR 0 ) 21
35, BT | HURAE
I R fagitt 10/ 160 0.5 15,1 5 0 0 2 38
127128 0.3 3 0 3 61
1A17H 0.5 3 0 2 16
4H25H 0.8 3 0 1 13
, - THI1ZH 0.6 3 0 o 30
36 I IJRF-R 8 el (RO -
EEall] I TR AT AT (ROFTHE) TAzon 03 3 o o m
, 17168 0.4 3 0 5 11
At 47250 0.4 3 -0 5 45
, . THIH 0.4 3 0 3 83
a1l [#) PR -
i LR 1A19R 0.5 3 0 0 13
1A17H 0.3 3 0 o 15
4H25H 0. 3 0 9.9 13
. J— THI1ZH 0.4 3 0 2
38 fi)1 PN HER d
Bl o LR 1A19R 0.7 3 0 3
1A17H 0.3 3 0 8
5H26H 0.5 3 0 X
- " I SH28H 0.7 3 0 1
39 el gl it BT+ K] J5
I fikr FIIET - il LI 19A 0.5 3 -0 4 . 19
w7 1A 18H 0.4 3 0 2 23. 19
R 5H26H 0.5 3 0 1 318
B . — 8H27TH 1.0 3 Eai) i . 0) .1 17
40 I ("33 % ] "
Bl R T LI 19A 0.4 3 WA — 7 3 0 3
1A 18H 0. 3 & 0 0
45 26H 0.6 3 0 7 5.
6HLLH 0.3 5 0 o 56. 37
— SH2TH 0. 3 0 1 5 28
1 Kt - sEEE
FAKH JAFITT - 2R 10A14H 0. 3 0| 9| 35
127130 0.5 3 0 3
1A 18H 0. 3 0 0
45 26H 0. 3 0 85
5H26H 0. 3 0 26
6HLLH L 2 0 7.6
THIH 0. 3 0
N N 8H26H 0. 3 0 ;
12 TR SRR AR (iR
(Sl BB Ceri) EYREEE] 0. 3 o I
10/ 14R 0. 5 0 100)
[ 127130 0. 3 0 29
it - EE
T - T UI19H 0. 3 0 i 66)
2H8H 0. 3 0 3 58
45 26H 0. 3 3 b - 35
6HI1LH 0. 5] .6 3 21
e SH2TH L 3 0 ] 55
43 BT B T 1 (FFE A
ISR (KD 10/ 14R 0. 5 0 i - 51
127130 0. . 3 0 3 72
14198 0. 6.0) 3 0 3 10




=

YR I (A ERED) 1/4

JEABREE (-4, 22 ] i)

BRI
— - wnn | o | S TR (/e (01 | TP ORI /s (0]
Hi4 T @i PER AP~ o & (z‘fﬁgﬁﬁ @i etk . R e
SALLA | K T Coml34 | ComI37 —] (e
o - 8 3 87 550 0. 06 [ i
&I 8J18H i 22.3 [ 5 o1 70 006 Ean 730 0.06
LJ19H |k 3.7 I E3 21 300 006 o 4] ] 132 0.07
Ui29H | = 02| E3 130 000 005 s ] 348 0.06
SALZH | & 15.6] e % 2] 260 006 - > S07L 0.04
TBHG 8/ 10H i) 21.2 18 3 9.0 87 oA 06 L - > 262 0.04
LAL0A | W 8.4 T % m = o ';E ] 246] __ 0.05
11300 [ 5.0 T % 5 o oA — 1 1) S 151 0. 05
SARA | & 8.4 W > = o e fe # 237 0.05
LKA 8/9H & 23.4 18 H# 28 230 oA 07 hwtﬁﬁﬁ — 228 0.06
UALA]| 43]  wi i 1 81 T — i - 167]  0.05
P TA29R | % Lol & = = — ﬂj 2 i 181 0.06
54 12A i 16.8] |C 503 5 32 260 0.05 t . — 1 0.05
LG 8H9H 2 26.0 P2 S 34 230 0.06 W - -~ = 0. 05
TWi10A | W 5.1 e H = 0 o i 3 173 0.06
U129F | s 24| KD % 15 150 0.05 e £ 250 0.05
5i12H | W 171 [ H m 50 o i 3 357 0.05
KT A SHI0H | & 213 RV BB % n o o . £ 89 0.0
Li10A | 6.5 E % P 50 — # B 0.0
Uison | = 01 W E | W 8.5 89 001 s N 61 0.04
SHI0R | 13.7] 2R E | @ 35 180 0.0 e —— L e
MG 8J19H 23.8 B - — — - f i S 9.5] _ 0.05
11/ 14H [ 13.8 ) A .0 = o 5 HUH 25.3 0.04] (/2f) THEDYL, HERCTxT
1730H Z -0.8 i E o o 0« - - - i) T > -
. 5790 | 0 23.8 g Hi o7 0 0.0 — _ | G
I A T siin | B Eo) [ 170 000 008 & 6o0]  0.09
4R | &= 13.9 T H % 530 o k4 195 0.08
ey Ui28H | & 03] H = 530 o £ 730 0.08
SASH | Wk 241 i % 290 900 o > SI5L  0.06
Sl S SA4H = 211 ) 5 To0 0 - (1)1 3 900 0.10
LT | ik 149 C RV EB [ 0] 910 o 02 -~ ohal 008
UlesH | & 03] 50 Fif W o o o £ 784 0.09
SR | B 12.6] Wit E3 69 580 0.06 ] 497 0.06
I B BN (K) wHilT SHLA | = 22.8] KB [ 2 140 001 - 6L 0.05
T 10.5] o0&l [ 2 180 0.05 -~ sl 0.09
UA25A | Wk L5 Ch R [ 14 170 001 -~ 285 0.06
o SASH | Wk P} T % 200 100 008 > 188 0.04
=581 T (G ) SAI6H | & 8.3 Wb B3 o 50 o8 £ 1,940 0.08
Li6H | 45 Wit % 120 950 006 2 5921 0.07
UIBIA | Wk 0.8 %E'v E | m 25 240 0 04 CiE 564] 006
- 5AI18H | W 22.9] CRVER E | w 100 700 007 - o o.04) ChJR) BEos, RIRTET
=il R SAI6H | W L 1| s E3 53 130 0.06 L] 1.250]  0.07
1A6h | I 2] Wl % 55 190 007 > S5 0.05
ESAN 1327 5 3.7 i2 s 27 330 - - 780 0.07
5/118H i 23.6 - 0.05 = 921 0.05
7 AT T N T 0. 08] 121 iR % 238 0.05
N = - S 82 690 % -
LLi6H | 12.7 H 0.08] PAH 7 28] 0.04
ol i27n |k 5 L 710 0.08| 1250 it W oot
i B 3 110 960 0. 06 B — -
5H18H [ 17.1 H 50 370 005 T — - S| (R BMEo%, RIRTET
L] 8jisA | & 23.2 i 300 2,300 0.05] =5 L] 51 0.05
A7 | 5.3 = - 05| IE S i [ 126 0.05
T 40 330 =
U128H | & 0.4 T i 33 370 — R 83 0.0
0.05[ K3kt T 111 0.04




B W (AL ERED) 2/4

i — JEDBRBE (13, ZE M k)
mn | Eg | R IR o
- — — ) o s SCORHPE RS [Ba/ke (i) ) . SCORHPE RS [Ba/ke (i) )
HRTA LN Stk S O n Cusury X g | vk TS & & eI R %
Cs—134 | Cs-137 ait i (s
5 14H £ 13.1 3 12 86 98 i S i
. N o e — — L1 — 2 % 0.04 5 18) i 65 360 425 0.04
110 0.04 A H# 1
117121 £ 11.1 3 13 75 88 I ; o o o
1251 [ -2.1 # <6.2 62 62 8 o I . . 5 o) T o
5H16H Z2 16.2 # 52 200 232 0. o i . . @ ) o 0
. i — — 16.2 — 2 . 04 5 18) i 61 360 421 0. 05
190 213 0. 04 A H#
117131 i 13.6 U 17 140 157 0. I - ) 7 0
o IR i 3.5 T i 0 i .04 48 E 43 380 423 0. 05
5417H Wi 16.6 3 100 5 E T 5 5 5 T
800 9 ]
16 SR . 8114H Z2 22.2 # 16 190 282 8 gi h X T o 0
— - — - = . 8 i 9.0 110 119.0 0. 05
[ E 53 430 483 0. 04 It 18 i #
v 1241 B -3.3 i # 42 460 502, 1! ] > ET & o
T 50141 [ 13.0 i # 14 150 164 8 gi [ . : . = 0 & o
vl i st e s 1 R A 8114H [ 23.8 i # 37 290 327 0.0 E : h X 0 0 0
i L 2.5 L x 5 200 .04 I A # 9.0 120 129. 0 0. 05
X IIREN i 1.1 L 269 0. 05 I A # 18 150 168 0. 04
. i 30 290 320 0. 04 A i H#
5H14H [ 15.0 i # 26 160 186 0. 04 i i 0 H 0
18 s IS ey 8114H Z2 23.8 i A # 11 94 105 0.05 T : . o 0 ] o
117131 i 6.5 1251 it gt 3 13 110 123 vo LE : . 7 0 o o
1241 e -2.6] ICRV it | W 8.9 91 99.9 0. ; I . T T o o o
50190 [ 21 1] IR [ 6.3 54 60.3 0. g: nﬁE = 2 3 4 g NG
| e R G56) AT - % LA A1 W j : A 7 m zZ oo
& (i - 2 . i [ 11 I oH
— — —— L 20 131 0.04] 25V HHE i 11 74 85 0.04
8.6 69 7.6 0. 04 It 18 H#
1251 [ -4.1 [ [ 14 88 102 0. 04 i 0 % T o
. 519H i 24. 7| 5B 3 5.9 53 58.9 oA 05 0 5 - = 5 a X
o e N s — — 2.1 — — . . 'in 1) i 21 150 171 0.04
” — i — = = <4.4 20 20 0.04] 125\ e i 10 110 120 0.04
2 . <5.5 K )
— — L3 — — 27 27 0. 05 Wﬁ%% 3 10 71 81 0. 05
< <8.1 11 11 0. 04| 12518 o 1
5 19H i 23. 3] IS5\t 3 51 430 481 0.04 CHE 1 m = G
o1 | N () Sk gl 81121 [ 22.8 A # 24 150 174 0. m . . > T 5 o
117141 £ 9.5 5 18) 3 27 240 267 X Afé . & i i 0
— — %5 — - — 0. 05 [ i 17 170 187 0. 05
E 29 220 249 0. 04 It #
5H21H [ 25.9 e A # 31 210 241 0.04] 1o i 0 o o
22 o — — 2.9 — - — ) i 77 540 617 0.04
— — .0 < - — 22 190 213 0.04 K1) i 18 170 188 0.04
. i 1 o5 )
. s — — 52 i — — 130 146 0. 04| 12518 o 27 200 227 0. 04
— -~ 24( - ;% Q,A = 12 110 122 0.04] 125\ e i 29 230 259 0.04
. 4.5 )
23 LG 8 22H i 28.6 e i 3 23 zfg 3232 g 84 o . N B E o
117150 i 11.9 K 1 i 3 28 230 258 oA oi WE%E . o m = o
— — Lo — — — . qu%% i €9.6 23 23 0.04
g + 7.8 87 94.8 0.04] IRV + S
5421H i 29. 3 25U i gt 3 <4.3 7.8 7.8 0.04] {25V T = P g o
o| ELER (BB |l Eoirnr - s [SA2H ] 2 2.1 =8 c 4.3 i : o T w B s
. s 2.1 . 17 17 0.04 I 1) # 8.5 72 80.5 0. 04
. # 24 190 214 0.04] IRV #
17220 £ 1.0 3 21 130 151 i P o = o
5H21H [ 26.6 # 5.4 24 29. 4 o T - . 55 a i o
e em — — .6 — <4A ! 2 . 0.04 ;_,33? i) i 43 330 373 0.04
ég  —_— 5.2 x ) 1L 51; g 04 “LE # 15 140 155 0. 04
E L . I 2 rl x 5.2 . . .04 [ # 22 150 172 0. 04
4 . 15 15 0.04 [ #
" 50241 Z2 22.2 # 25 260 285 0.0 1! 5 T o o
2| 7 S 81231 [ 33.8 # 29 220 249 0. o4 I . . o i o o
— — 2.5 — 2 . 04 [ i 14 110 124 0.04
7] 110 123 0. 04 A ey
14210 £ 5.2 U 8.8 82 90. 8 I 7 m m i o
. . 0. 04 A E 14 100 114 0. 04




B W (BLDERED) 3/4

BRI : - :
V/ B — JED B (LA, 22t i)
- — gn | g |G TR EE i
. 7 . i W [Ba/ke (#
54, AT AR i g | ek BT S & - ERRE gy XS L e ] s
: e T I T T e (uSu/h) Mgk _ B~ 7 & ﬁﬁ‘zz’%
R . o . A — — 22 69 490 559 0. 05 I - 13429 CS713272 o
; — 00 — 0 : 14 130 144 0.04 A 12 108 B o
: . oL — o 51 : 49 420 469 0.05 I 25 5 0
iy — 2 e f : 45 360 405 0.06] =50 it [Z o) o o
28| 7 [Liem B SARN | W | 283 VA o g 5 T : B
— - 10:3 N;E i;i <3.8 25 25 0.04 8 U 23 o) i X
oL — o3 — — G <6.8 25 25 0.04 I [ 18 T o 0
- V Uiain — L0 L —— G <5.6 37 37 0.04 A i 13 0 = o
. o o Az & 1.0 i L jgi <6.4 14 14 0.04 1 + [ W <. 1 5 - o
— -~ — — i: jgz <5.1 20 20 0.04 It 18 + i 0. él 5 m X
o I L1 i B jgz <8.8 11 11 0.04 I it | W 20,59 o o o
- — — L8 [ e jgi <11 20 20 0. 04 ) + i <§ 0 50 50 X
. . — — 19.2 B i 7.0 65 72.0 0. 04 A T H# ; = 7 NG
L - — E| : 4.7 35 35 0.04 [ E S . 0 = o
i T — b1 i G <77 46 16 0. 04 G2 T % 7 o o s X
75 SE - 17A i 11 110 121 0. 04| 1518 A = 5 X o
T - | = — — - ey 8.6 43 51.6
) e — — 1.5 — 40 1, 060 0. 08 8 U 75 ; s
— 25 — G 93 900 993 0. 07 I T 68 0 gn o
I — 0.2 — G 95 740 835 0.07] 1z ] 7 46 ) T 0
A — - — = : 71 560 631 0. 06 It 18 3 7 35 e 5 o
" . — i 1.5 i 54 360 414 0. 04 A S g EE o
— -~ — éi 14 110 124 0. 05 8 i ;g 0 o X
I I L1 — G 35 300 335 0.04] R T 27 a0 o 0
— = — = : 23 150 173 0.04 [ i 7 37 o o o
Uizin = L. g — G 240 1, 600 1,840 0. 24 IZ RV ] 78 o0 g BB
Az I n — G 400[  2,800[ 3,200 0.14 [ ] 220 a ) oD
Shizp I 2.2 1 270 1, 600 1,870 0. 13| Ic RV T 0 o o
. o D — 21 B [ i 160 1, 200 1, 360 0. 19] 1RV ] o o
— L — B 2 : 360 2, 900 3, 260 0.13 K31 + i <;4(2] 0 - X
) — 0.5 —— G 200 1, 600 1,800 0. 20 I ) T % 5.2 o o o
; e X B G 280[ 2,300 2,580 0.12 A8 + | ‘ = = NG
= : b | 170 1, 600 1,770 0.13 I + — w0 i e
1 - — N K1) at | 67 731
— jij [Praceun AT 2ASH | 5.2 ML o T N T ES Ty T o 0 o
i 20 — 22 = % G 320 3,100 3,420 0. 14] e RV T W o 0 - i
x Uizin = L. g [ G 54 450 504 0.15 It 18 A g 0 7 fn i
Az I 2.5 ﬁ G 48 400 448 0.12 I ) i E 122 o T o
Shizp I 1.5 L 100 690 790 0. 13| Ic RV i E o o o
34 LA 8/30H i8] 22.0 - % = = = - —— -~ ; m I i i
e — 2.0 B i; 1 43 350 393 0. 10 It + i i ZZ ) on i
— = — B = : 91 680 771 0. 10 G Z i 7 66 a0 o0 i
— - - B -~ i 45 380 425 0. 10 N gt i 100 g?g o s
— - N B L 75;; 26 390 426 0. 10 K 1 + i 62 58 o T
— -~ o8 L 2 4 360 394 0.11 N + 2 ; i s
if 4.5 25 gt [ 36 410 4 T i m i o
16 0.11 K 1 gt U 41 s
440 481 0. 08




B W (BT 4/4

I S -
= 3 DETEEEER,
N — wmA | xe | SR ;; TR — i
- 7 — i W [Ba/ke () ] T
— — o e | e DR Sk — o B ] TSE L [Ba/ke ()]
4727H & 13.5 = Cs-134 | Cs-137 X s o " T T ﬁﬁzz)ﬁ%
A - - — iii 220 1,400 1, 620 0. 15 It # T o
. . . - — = — H# : 260 2, 100 2, 360 0.13] IR0 H# = g i o
— 2.5 éi 230 1,700 1,930 0. 10 1= 50§ U o S i 0
— — L1 jgi 220 1, 800 2, 020 0. 11| IR0 iii 5 0 = D
— = — jgi 160 1, 500 1, 660 0. 11 250 ¥t i B o o 0
- E L 2 A 1 200 1,800] 2,000 0.13 I + | 5 g I 0
N s — — 5.7 ] i 250 1,800 2,050 0.12 A A m 0 0 0
i — 0 éi 120 880 1, 000 0.11 tt) + i 32 i o 0
. — -~ — jgg 78 660 738 0.09[ 125 Ete) + 3 62 ?30 o o
- - - — -~ — jg; 110 1,100 1,210 0.07[ 125\ it + i 36 il o o
s Uizn I 2Ls G 160 970 1,130 0. 10 ) At # 0 % I
—— 0.3 2 G 230 1,800 2,030 0. 08] 1=\ Hii T = = g5 o
I = 6.3 x 1 76 610 636 0.08 I T W 122 g o o
- - - — — 0.0 jgz 91 840 931 0.07 8 gt U 7 o o o
‘ o o Uizn — 2Ly G 27 190 217 0. 09 e ey ! o ) I
— — 2.5 2 i 53 390 443 0. 08 A U :1 o o o
— — 0.1 — — g 86 680 766 0. 06 i) i 7 93 & 5 o
- - i o 53 Lo x 0 36 360 396 0.07 A U 73 T o s
. ER AT + il ST 8J1280 | & 28.4] ICRVEB Hi 5 ) T ST : r g i o
— b 11A19H i 6.0 ) iiz & o 5 o w 3 5 En = b
. [ o 60 it x i 79 720 799 0.07 148 # 78 ) o o
i Ulish — o e G 43 330 373 0. 06 e # 0 o o
Jil i e B ST SH2TN | T 2T i I 5 ) T T P -
i S — — L ey 23 250 273 0. 06 t8) g - o0 5 0
G L — 11: - L S f 35 280 315 0. 05 e 2 B 5 o o
— m 1.0 — 22 51 410 161 0. 06 N i gg Bl i o
41 bz I L0 e — : 130 870 1, 000 0.08 L1 H# o 0 I
e e I G 2.0 i —— i 280[  2,200] 2,480 0.07 i S o m g o
- 2.5 «E — i 58 510 568 0. 06 A ik ?gg CRETT] BT o
e — o «E - i 170 1, 400 1,570 0. 06 A i 55 S - o
— — 2.0 — i: — g 110 900 1,010 0. 06 8 gt i 76 m & o
L — X e B G 120 1, 100 1, 220 0. 06 A St # g = o
B 2 R 140 1, 100 1, 240 0. 10 ! T o o o0 oD
E Z 17.4 1) gt U 270 1 0 T . o [T ;
51 2 7.4 «E A ,800] 2,070 0. 09 A it | W 210 ) i i
A Shin I 2.5 - G 180 1, 400 1,580 0.11 It 18 HE 0 ] o
a2|  [eracmn TR () I e HHCERT . o T B B » i T
— m 0.0 # - 2 i 67 480 547 0.07 i) i Z ?Z a0 Tor 0
— — 2.9 — — g 92 790 882 0. 10 8 i 7 76 o on 0
I iin = L8 L : 170 1, 400 1,570 0. 08 A £ | 0 T I
= — ‘ ey 140 1,200 1, 340 0. 09 ! + o ) o 0
i 5.9 1548) U 130 0 T . I R
oot G 5.9 ri A 1, 400 1,530 0. 09 A it [ 160 . o o
ELE 0 L2 ri % i 140 1, 300 1, 440 0.08 A8 i 48 i R 0
) A — — 5.1 — gi 100 700 800 0.10 8 R T i 0
. I o 2.7 «E x i 150 1, 100 1, 250 0.08 [ E | % i o o
- 2.3 % i 47 430 477 0. 06 [ L | WE 22 & S o
e — BT 51 i 16 440 486 0. 06 [ # 7 4 ¥l o o
250 — Ll 51 G 37 380 417 0. 07 [ H# g ; g s o
i)H 10 110 120 0. 06 48 H g m a0 % o
T Z 96 740 836 0.07




IR VR KR (OK'E

1/3

o G
7 oy — ,
PRI A i . s | ek BT T YE B (Ba/L)
. (C) (m) KIE | BRI | B |waisEE|  SS )i Tt o 4 fii#
No. A% i < f 125
> | i i © | o M T | e | e | 9 [Teosa | csust
3z " 14.2 0.5 JR I D $E ok i 10.0 5 4.7 <0.58 0. 75
TE pon 1 13- 0.5 8.1 19.5 - bl L5 9.7 66 40 €0. 74 <0. 88
n i b= fiii
E] 8H 161 = 19, 6.9 19: 7 0.5 KD i = L4 8A’7 7 8%% <0. 8'6 <€0.92
" e 5 2 5o TE 16.9 15.9 - 9.3 23 16 <0. 83 <0.97
’ E] L0 28 - 12 6.7 12.9 0.5 KD i [ L3 8.7 6 6.5 <0. 63 <0. 84
TE - ) ) 11.2 15.7 - bl ) 10.2 12 8.5 <0. 66 <0. 55
3z 2.7 0.5 SR I D S5 ok i 16.0 3 6.8 €0.73 0. 75
12520 b3 -0. 9.4 1.6
e TE eon 3.1 8. 4 - bl 15.9 36 28 £0.76 0. 84
. E3E] SAL5H i 2 8.7 13.0 0.5 SR I D $E ok i 20 6.1 <1 1.3 <€0. 63 €0.70
T - ) ) 8.0 27.7 - bl ) 6.8 3 3.6 <€0. 51 <0. 66
3z 20.8 0.5| JRHDikdr % 4O 8 i 7.4 6 6.8 <0.77 <0. 69
8115 5§ 20. 21.9 1.2
45 T2 A PIC A NE ssn m 9.2 20.9 - i3 8.2 7 6.2 <0. 62 0.75
3z 108247 i 17 2. 3 15.6 0.5 VR 22 D Bk i 26 8.7 1 1.6 <€0. 48 <0. 88
T " ) ) 8.9 25.3 - bl ) 9.9 16 15 <0. 63 <0. 55
KE = 4.3 0.5 VR 22 0D ik e 9.2 3 3.6 €0.57 <0. 66
TE 1220m B 5 0.0 4.2 19.0 - bl 21 9.2 3 3.9 <0. 67 <0. 70
3z " 13.1 0.5 JR I D Sk i 7.3 1 1.5 <0. 86 <€0.61
TE SAI6H 1 13- oL.5 6.5 60. 5 - bl 0 8.6 <1 1.6 €0.72 0. 75
: K Sk T e BEINT e
e L B B I - e s w2 N - e - - =
X Y " N - A . . ] \ . . . .
S FRTA R I EEH VY 1 sy 5l 181 0.5| IKBOfkH A O % [ 5 gl__10-9 2 2.1 €0.79 <0. 69
)ﬁ TE " ) ) 5.9 51.5 - bl ) 14.6 2 2.1 <0. 63 0. 75
EIE] - - - - - - - - “|HE0L, RIRTES
K 12A18H %5 2. T <
i £ ] _ B B - - - - - |EEoR, FRCTET
N : K Gk Tp A BETRNT- i
n KE 5H2H i 93, Lo 17.8 0.0| JRADigkr % 4O % Lo 26.3 33 29 €0.77 <0.84] __ _ _
. 47 o amn TE - - - - - - - - SRRV, TREERCTE T
K - b EITI IFPYTORT s sl 141 0.0 WK A Ok AE RO k| 0 3128 20 20 0. 74 <0.84
i»”éi ] K : : - - - E ) - - - - KRRV, TREERCTE T
3z 16. 2 0.0 JR I D S ok i 25.3 4 3.2 €0.73 <0. 55
5420 if§ 17. 1.8 >1.8 — — <
S I i - - - - B - B - AR . TRRECET
. E] SH11H - 91 Ls 23.8 0.0 B % WK 70 0 Bk 1 s 17.6 2 1.3 <€0. 74 <0. 55
18 5 B Td ~ ‘ ‘ - - - - ‘ - - - - KBS A, TRERTE T
: b ET I YY) 6 L gl_18.8 0.0 HFR 2 0 ik [ 0 o161 2 1.7 €0.72 <0. 69
TE ) ) - - - - ) - - - - KRRV, TREERCTE T
E] N 3.2 0.0 B % WK 70 0 Bk 1 24. 1 <1 0.7 <€0. 90 <0. 88
1218 if§ 4. 1.5 >1.5 — — <
T | ] = - - T - - RS TRERCET
E] N 16.7 0.0 B % WK 70 0 Bk 1 10.9 4 2.3 <0. 63 0. 75
5116 if§ 20. 0.7 0.7 — — -
T | O = - - T - - RS TRERCET
3z 24.5 0.0| JRADigkr % 4O 3 i 1.1 0.7 <0. 80 <0. 88
8H1TH b3 23. 0.6 >0. 6 — — <
RSN s - TE - - - - - - - - SRRV, TREERCTE T
9 DORT=HH 7 J -
! fEORT=0 | o 3z 105 26 1 i 19 0.6 16.0 0.0 JR I D3 i 0.6 10.5 3 3.0 <€0. 82 0. 75
] i : : - - - - ‘ - - - - KRB, TR CET
3z 5.3 0.0 JR I D 3K i 10.4 3 2.8 €0.79 <0. 80
127181 if§ 2. 0.4 >0. 4 — — <
] i - - - - - - - - KRB, TR CET
3z " 15.3 0.5 SR I D S ok i 6.3 <1 0.7 €0.94 <0. 88
o TE AT 1 17 4.3 5.9 46. 3 - Bl 2 8. 4 77 65 <0. 65 <0. 80
M : K e e
ﬁﬁ] E3E] SA18H i 2. 16,8 17:9 0.5 JR I D Kok 94 6.1 1 0.8 <0. 72 <0. 80
sol 1 |evaEra |yaws v sy ANE] 6.0 45.8 - & 9.5 4 1.8 <0.63 <0. 80
- E3E] 13.0 0.5 JR I D Kok i 6.4 2 1.8 €0.93 <0.75
K 104250 | 2 13. 46.5 - —_ 2.3 - - -
E4 TE 6.0 45.5 - ALK H 9.9 6 3.7 <0. 65 0. 75
FaF - — - - - - - - -EfTIE 0%, RILTE S
127190 E 2. —= — <
T 4 - - - - - - - - |0 %, RERC T




IR VR KR (OK'E

2/3

FRIRHE A AR
IH P ’(xxéu;n' é(/k;% i — —EEH P BT E (Ba/L)
No. |k 4 T m ;kcz% ?A(ﬂ:fx it b FEYE || SS R e v v A 1%
i m (m) (nS/m) | (mg/L) () Cs-134 Cs-137
?é 5H17H i 19, 6.6 122 32 5 KD i f:i 95 4.0 4 4.6 <€0.78 <0. 63
A 5. 6 35. 6 - ) 4.5 4 4.3 €0.79 <0. 69
\ ?é 85 18 H - o1 9.6 18.3 oAf? VR 22 0D ik e L4 5.2 2 1.7 <€0. 70 <0. 80
- VR PN DR P n 7.5 18.6 - 1% 5.2 4 2.5 <0. 65 <0. 69
Té L0 25 = 1L 97 1 12.0 0 5 SR I D 1 o1 4.6 23 28 <€0. 70 <0. 69
L 7.4 26. 1 - 1% 6.4 10 8.0 <0. 65 <0. 69
- 128191 = 3 - - - - - - - - B0, ERTET
" ) - - - - - - ST, RRTET
s ?}2 5520 i a1 20,6 Tg é Zg 5 KD i e ) 8.9 1 1.8 <0. 65 <0. 69
il A . 28. 6 - 1% ) 11.0 28 21 <0. 57 <0. 80
/5 ?}2 85 19 - 20. L8 21.7 'oA 5 VR 22 0D Bk e L3 7.8 1 1.4 €0.76 <0. 80
[ N S 5 A n 9.5 30. 8 - 1% 12.0 27 25 <€0. 61 <0. 63
Té L0H 27 H i 15 0.4 14A:2 {oA 5 HE VR 22 D 3 e Ls 7.0 5 6. 1 <€0. 70 <0. 55
SRy Lo 11.2 29.4] - 1% 9.8 19 13 <€0. 61 <0. 55
Té 12H17H = 0. 29 0 g: ZoA 5[ VK Fr D kI % 4 OV 3 e s 8.2 3 4.0 <0.61 <0. 69
A .9 28.0 - 1% ) 8.3 16 16 <€0. 69 <0. 80
i%)é 5H 200 i 08, 0.7 22.1 0.0 JR I D Sk i 0.7 9.4 6 4.0 <€0. 63 <0. 88
2 B =7 S N PN PN ;;E - - - - ‘ - - - - R . TR E T
= L0H 27 H i 15 o5 15.6 0.0 KD i e 0.5 7.9 4 5.4 <€0.76 <0. 80
- - - - - - - - - SRRV, TREERCTE T
?é 5520 i 93, 70 f;? 0.5 KD i 1 94 21. 1 2 1.8 <€0. 70 0. 75
. 6.0 - 4 ) 5 :
” - _ \ 17.6 4 3.7 <0. 85 0. 75
\ i 2;); 8H18H B oL 8.9 2:&0 0. 5| MFU K 2 Dk 2 & HF O 9 e 0.8 17.5 2 1.6 €0.70 0. 75
fé’j‘ sal | momr s |2 aag n [ n 12.4 7.9 - 1% 33.0 13 23 <0. 80 <0. 88
«f:. :i; Té 10A22H i 16 6.9 igg 0.5 VR 22 0D ek 1 Ls 19. 6 3 4.4 <€0. 72 <0. 69
% E 5.9 - I ) 20. 4 4 4.3 €0.75 <
M - ___ __ . . 0.75
. ?}2 AT i 5 65 ji 0.5| R Digkdr % 4O 1 L7 21.3 5 5.3 <€0. 61 0. 75
o A . 5.5 - 1% ) 21.5 5 5.7 <0. 52 <0. 84
KE 5H 230 i 25, a4 22.1 0.5 5 WKHDfk A& O 20 6.9 3 3.5 <0. 81 <0. 63
+ ;;E 13.3 3.4 - bl ) 9.5 5 4.3 <0. 60 <0. 88
é& B | sHoin i o1 L6 22. 1 0.0 VR 22 0D ik 1 o1 5.6 100 170 <€0. 72 <0. 80
5o i [dmys |ravar = ’ _ R - : - - = ’ RIS, TRRIRCET
" = L0H 21 H = u o5 14.3 0.0 B % WK 70 0 Bk 1 0.5 7.2 <1 0.9 <€0. 61 <0. 80
= i - o I - - - - - - KRRV, TREERCTE T
2;); 128 165 B . Lo 6.1 0. 0] MFV K Zr Dk 20 & HF OV 2 e 1.2 7.7 1 1.1 <0.71 <0. 84
- - - _ - \ - - - - - SRRV, TREERCTE T
2;); 5523 H i o1 0.9 22.3 0.0| KHOFEHEHON I | PR 0.2 31.8 23 16 €0.70 <0. 63
A - - - — - - E - KRRV, TREERTE T
i%)é 8H21H 2 99, 0.4 22.9 0.0 B2 WK F D B i 0.4 25.9 13 6.9 <€0. 82 <0. 84
so{umpom [win |wad R 4+t - : — = PRI, PRI ST
Té 10H20H i " 0.4 14.2 0. 0] MFV K Dk 2 & HF OV 2 e 0.4 13.4 23 12.0 <€0. 63 <0. 88
A - - - — - - E - KRRV, TREERCTE T
?é 125 14 i 7 0.3 5.9 0.0 B2 WK F D B 1 0.3 37.4 12 5.9 <0. 64 <0. 88
- — - S— _ _ - - - - k& A, TREERTE T
?é 5523 H i 93, 9.1 ZZAZ SoA 5|82 VIR B ok A O 53 5.6 3 2.8 <0. 65 <0. 96
. 38. 1 - 4 ) 5 P P
" - _ 6.0 2 2.7 <0. 81 <0. 80
E}"( ?é 8H 21 H - 20, 3.4 zoAr7 '0A5 KD i e Ls 6.2 3 4.8 <0. 63 €0.71
S T P 5 Ao n 9.2 sL4f - 1% ) 7.0 4 4.0 <€0. 63 <0. 61
:if Té W0H21H B 16. 95 8 132 Z0A5 HE VR B D ik I % i OV 3 e 94 6.6 1 1.5 <0.78 <0. 80
% A 9.6 24. 8 - 1% ) 6.9 8 8. 1 <0. 80 <0. 63
?é 125 16 H = N 26,5 5.0 {oA 5 KD i e Ls 7.3 4 3.9 <€0.79 <0. 80
4.7 25.5 - 1% 7.5 6 5.4 <0. 81 <0. 69




IR VR KR (OK'E

3/3

o G
o . &
PR . | mm | e A O TED BRI (Ba/L)
BIRA) K ) | [ km | RE GOE |oaean] sS | WE BOHTEE > i
S i FimT A i L Dol it N :
B i i © | m o M T | e | e | 9 [Teosa | csust
3z 23.2 0.0 JRBDFEIHFAE V3K (8RN 29. 1 25 14 <0.70 <0. 96
5124 55 23. 0.5 0.5 — — <
NE sz m - - - - - - - - KRRV, TREERCTE T
3z 25.0 0.0 VR 22 0D ik i 28.8 6 4.0 €0.73 <0. 69
8124 55 25. 0.4 >0. 4 — — <
58| % A W ow | | - - - - - - - - KRS, FRERCET
b b - ET YT 6 0 3161 0.0 IR 7D ek [ vo 3241 6 4. <0.63 <0.92
NE - ) ) - - - - ) - - - - SRRV, TREERCTE T
3z - 5.8 0. 0|15 WK Ok A O 3| 25. 1 2 1.6 <€0. 89 0. 75
127 14 if§ 7. 0.2 0.2 — — <
T | ] - - - - - - - - TAEERC A, TEERCET
E3E] = 17.0 0.5 VR 22 0D Bk i 8.9 <1 1.2 <€0. 63 <€0.92
T Szl - 6. 0.1 12.2 29.7 - bl 25 8.1 7 7.1 <0. 68 <0. 96
3z 22.0 0.5 SR I D Kok i 7.6 1 1.4 <0. 84 <0. 80
8H24H if§ 26. 17.7 2.1
PR N TE 18.9 16.7 - bl 8.1 18 12 0. 64 €0.75
59 AN 2 S - —
4 oid BT A R I G L0A 200 - 12 912 15.8 0.5 VR 22 D Bk 1 L4 9.5 6 4.8 <0. 67 <0. 69
fﬁ T ) ) ) 15.7 20. 2 - bl ) 9.6 7 5.3 €0.78 <0. 69
3z 6.0 0.5 JR I D Sk i 16.3 3 2.7 €0.75 <0. 80
K e
ES AN S " 180 5.4 17.6 - i3 >0 9.6 3 2.9 <0.86 <0.75
3z 20. 4 0.0 B % WK 70 0 Bk i 8.9 2 1.3 <0.74 <0. 63
5125 55 16. 0.8 >0. 8 — — <
O PR PP P i it B - = . _ _ _ _ _ RIS, TRRIRCET
) g 105 18H s 15 0.5 18.2 0.0| JRADigkr % 4O 3 i 0.5 9.0 3 3.1 <0.70 <0. 80
NE - ) ) - - - - ) - - - - SRRV, TREERCTE T
3z 20. 4 0.0 JR I D $E ok i 9.2 1 1.8 €0.78 <0. 80
5125 55 15. 0.5 0.5 — — <
S S PSP AP N il B - - - - - - - - _PRRB %, TERRCES
e G L0A 200 - 13 0.4 14.9 0.0 KD i 1 S04 9.2 2 1.8 <€0.79 <0. 96
. TE a ) ) - - - - ) - - - - KRRV, TREERCTE T
K 3z 19.2 0.0 B2 WK D B i 8.2 7 4.0 <€0. 63 <0. 80
5125 55 14. 0.7 0.7 — — <
E‘ T | AR W . . . = = - - - “PRER A, TR CE T
G 8H 28 - 19 o8 20.5 0.0 KD i 1 0.7 7.4 2 1.4 <€0. 72 <0. 96
62| B imrsa |poavar mam 0 - : : _ _ : o I E— _ PR B, TRRBCES
it #E W0A17H o 14 0.6 13.3 0.0|M B WKRH DRk A& O3 0.6 8.3 3 1.4 €0.78 <0. 84
I T ; ‘ ‘ - - - - ‘ - - - - TAEERC A, TEERCTET
N EE] 7.8 0.0 KB DH [ 8.4 10 3.8 <0.83 <0.96
12711 if§ 5. 0.3 >0. 3 — — <
;Jz T | | = = B B - - - - REE VA, DERRCE T
- g " 17.5 0. 5| WK I O 35 2 17 OV ik i 6.0 2 1.8 <0. 60 <0. 80
TE SHzom 1 8- 8.9 10. 2 34.9 - bl 20 6.2 90 51 €0.73 <0. 84
G 8520 - o5 a1 2.8 0.5 B % WK 70 0 Bk 1 a8 6.9 <1 0.6 <0. 52 <0. 55
X e . TE - ) ) 10. 4 30. 1 - bl ) 6.3 1 1.6 €0.79 <0. 84
63 t I 2 MR .
rE FRTAT A 3z V0B 17 i 12 a3 17.3 0.5 SR I D S5 ok i 19 6.6 <1 1.2 <€0. 80 <0. 69
TE " ) ) 11.2 30. 3 - bl ) 7.6 2 2.7 <0. 80 <0. 84
3z " 7.9 0.5 JR I D S ok i 6.5 1 1.7 0. 64 <0. 84
TE 1A 1 5 Lt 7.8 30. 4 - bl 23 6.5 2 1.9 <€0. 61 0. 74
3z 21.5 0.0 JR I D3 i 15.5 11 11 <€0. 63 <0. 84
5125 55 15. 1.5 0.8 — — <
NE e m - - - - - - - - KRRV, TREERCTE T
3z 27.1 0.0 JR I D 3K i 14.9 8 8.2 <€0. 84 0. 75
829 b3 30. 1.1 0.4 — — <
ol M e NE . - - - - - - - - KRRV, TREERCTE T
e b ETI [FPYT 12 L ol__16.0 0.0]  IKAORHEHOTH [ 0 3149 13 11 <0. 54 <0.75
] i : : - - - - ‘ - - - - [KER A, TR CE T
E3E] i 5.2 0.0  JRBDfEHE RO 13.4 8 6.9 €0.73 <0. 84
12710 if§ 9. 1.0 >1.0 — — <
T | O] 1 - - T 1 - R TR CET




=

=

R WE - KR (ERE) 1/2

JEE
BRI —RIEH
" R | ek e HOHHERTTRE [Ba/ke (H7)]
BRIA Kz ) ) . REFERLEE (%) N
M| R R I PP Er ol I T HHEES v A %
No. |Aiis A4 T ATAT () | (em My | RESy | MRSy | RSy | Ry | sy [sov hay| Kiksy | (%) | (g/en®) e T e
s~ S~ )il
5591 ] 13.4] 205 9.2 5 K 0.0 0.0 0.0 0.1 0.2 8.7 780 13.0] 428  2.509[ vk -w 8.4 68 68
. . 8H16H 19.5]  16.9]  15.7 5 BOEK 0.0 0.0 0.0 0.5 11 0.6 52,5  45.4]  38.2[ 2537 -k 12 99 111
44 55 2 A
o yavA b 104281 12.6]  16.7]  13.3 5 # 0.0 0.5 1.7 1.8 50.7]  36.5 1.0 19 69.9] 2.766] # 5.7 18 18
yees 12201 0.9 9.4 1.6 5 2R 0.0 12,9 9.5 19.4] 528 3.2 0.8 1.4 76,0  3.000] - @ 5.3 10 10
o 5/115H i 12.4] 287 8.4 5 71 0.0 0.0 0.0 0.0 0.0 0.1 319 e8.0] 3n1[ 2519 ~ak 20 130 150
. . 8H15H i 20.9] 219 114 5 71 0.0 0.0 0.0 0.0 0.1 0.1 375 e2.3]  20.2[ 2501 vk 22 150 172
45 S S nHA b
feil 104240 | 178 26.3 8.8 5 71 0.0 0.0 0.0 0.1 0.1 0.1 36.2[ 63.5] 275 2.545] -k 27 190 217
120200 | % 3.6] 200 5.0 5 T/ 0.0 0.0 0.0 0.1 0.1 0.1 372 625 28.9[ 2551 vk 12 150 162
5116 H [ 13.4] 615 5.3 5 T/ 0.0 0.0 0.0 0.0 0.0 0.0 37.1] 629 287 2,590 + R 19 140 159
e SH1TH = 20.9] 52,0 9.2 5 KAV —F T/ 0.0 0.0 0.0 0.0 0.1 0.2 387 610 318 2580 -k 16 130 146
16 [ER LN SR A B[R — - - - - - - - - - - - - - -
ﬁ " Wt 100240 | 1k 14.1] 525 7.6 5 KA —7 T/ 0.0 0.0 0.0 0.0 0.0 0.1 419 550 283 2578 sk <10 130 130
1 12180 | < 2.8 - - - - - - - - - - - - - - - - - (B0, CET
a| ® |pan B0 5521 i 23.9 L2 164 5 T/ 0.0 0.0 0.4 o9 520l 244l 2.0 105 367 261 20 110 130
104260 | i 18.0 L3 149 5 T/ 0.0 0.5 0.5 1.4 270 32.5]  26.3 8.8 46.7]  2.549[vnk-w 12 85 97
Bk 5521 [ 17.4 L8] 16.4 5 T/ 0.0 1.5 5.6 L4 42| 367 23.5] 17.2] 255  2.406] vk 32 200 232
. - SH11H 2 21.9 L5 239 3 T/ 0.0 1.7 4.4 0.1 208 a4.6] 182 101  26.7[ 2.438] -k 10 190 230
48 R wWiin -
104260 | i 16.8 L8 146 5 T/ 0.0 1.7 3.4 3.6 17.1] 382|248 1n2]  a0.4[ 2 as8[onb-w 15 120 135
120180 | Wk 4.1 1.5 5.0 5 T/ 0.0 0.0 0.1 0.9 1.3 37.0]  35.9] 218 26.6] 2.395] -k 15 200 215
5116 H [ 20.0 0.7 17.0 3 T/ 0.0 0.2 1.4 8.4 382 82| 4.2 19.4] 56.9] 2.545[w- ot 15 98 113
§ | X SH1TH = 23.4 0.6  24.8 3 T/ 0.0 10.7 7.5 168 413 139 1.5 5.3 7a.6]  2.680] - 3.9 41 41
49 TH DRI} Hn Ji — =
i R 104260 | i 19.0 0.6  16.3 5 BIR 0.0 1.7 11 4.1 29.8] 213 205 215  e2.2[ 2.576] 11 63 74
120180 | Wk 2.1 0.4 5.5 3 BIR 0.0 1.6 2.7 1.6 367 213 in7[ 214 s2.9[ 2598 b 7.8 76 83.8
5H1TH [ 17.4]  47.3 4.7 5 T/ 0.0 0.0 0.0 0.0 0.0 0.1 382 617 279 2545 -k 26 160 186
; - . . 8H18H i 20.6] 6.8 7.5 5 T/ 0.0 0.0 0.0 0.0 0.0 0.4 s6.0]  43.6] 313 2.463] >k 13 83 96
Wl s0 ES N |FBYA b
a 104250 | & 13.4] 465 7.1 5 T/ 0.0 0.0 0.0 0.0 0.1 0.7 62.2[ 36.9] 314 2.aa3] 2k <10 120 120
. P 12/ 19H E 2.3 - - - - - - - - - - - - - - - - - -lATIED %, FIRTE F
? 5H17H [ 19.8] 366 6.8 5 # 0.0 0.0 0.2 0.5 0.3 0.6 545  43.9] 37.3[ 2507 -k 26 200 226
R ] 8HI18H i 21.9]  19.6]  10.2 5 K 0.0 0.0 0.0 0.0 0.1 L1 648 339 415 2507 Lk 11 96 107
sil 2 e a PICUEY i . . . . . . . . . . . . .
i ﬁ‘ " 10125H £ 11.3 27.1 8.3 5 LS 0.0 0.0 0.0 0.3 0.2 0.3 54.1 45.1 35.6]  2.539] L b 13 76 89
x 120190 = 3.2 - - - - - - - - - - - - - - - - - Lo %, wRTES
# 51200 [ 3.4 29.6 9.9 5 # 0.0 0.0 0.0 0.1 0.6 7.9 67.9]  23.6] 32.6] 2452 -k 37 240 277
. . i 5 . . PF . . . 5 . . 5 . 3 3 P22
5 P PICUEY 8H19H ﬁ: 20.1]  31.8]  16.9 5 /fv&T7J< 0.0 0.0 0.0 0.3 tof ol so.of 24.5[ 38.of 2.455] & 3 16 96 112
- 104278 | 1k 154 30.4] 145 5 AR 0.0 0.0 0.2 0.4 11 6.2 638  28.4] 328 2427 vk 20 160 180
RATH] % 0.8 29.0 1.5 5 BOEK 0.0 0.3 0.4 0.4 0.9 12 59.7  27.1[  36.6] 2.421] Tk 22 100 122
. . 3 . . . “HD W . . . . . . . . . . b - .
5 I IV 55200 i 28.7 0.7 220 3 (,i ) fvth?K 0.0 6.9 18.9 5.2 3.9 29.5]  29.5 6.1 60.7] 2.651 - 6.2 48 18
104270 | 1k 18.0 0.5 16.4 5 [N e 0.0 212 8.8 5.3 5.2  17.8]  31.5]  10.2[  63.8] 2.610] # - @ 2.2 5.7 5.7
o 55200 [ 23.4 7.0 8.9 5 =2 BOEK 0.0 0.0 0.0 0.5 1.8 L2[  60.6]  36.0[ 16.5] 2.469 Lk 130 920 1,050
xe . . 8H18H = 21.3 8.9 10.4 5 = AR 0.0 0.0 0.0 0.8 2.5 L4 574 379 16.3]  2.389 vk 150 1,100 1, 250
54| AP ROBIF L | F LA b [FIFFET =3
,\Jﬁ Bow s 104220 | 16.6 6.9  14.9 5 =2 Tk 0.0 0.0 0.0 0.3 1.6 L1 57,0 0.1 175 2.424[ Tk 120 980 1,100
R2ATH]| W 2.4 6.5 1.9 5 =2 Tk 0.0 0.0 0.0 0.2 0.4 0.6 657 331 13.4[ 2.325] vk 74 770 844
+ 551230 [ 25.5 14| 135 5 GV —7 8 2R 0.0 333 12.7 6.2  15.6] 10.2]  14.1 7.9 52.5]  2.584] W - 5.9 34 34
KAt . . 8H21H i 21.6 L6l 217 3 K 3.4 15.5 9.6 9.9 311|176 8.2 18] L] 2,488 - <0.55 1.7 1.7
55 RPN PN NN ~
% H 104210 ] % 14.4 0.5  14.6 5 AV —7H 0.0 10.5 8.9 8.1 2094  19.4]  19.3 14| 73.8] 2.507| W - B <0.57 3.7 3.7
i 12H16H | 4 6.8 1.2 6.9 3 4V —7H 0.0 19.5] 6.0 128 20.8] 114 6.9 3.7 T 2.e01] B - #) 7.7 19 19
551230 [ 21.9 0.2]  22.8 3 V-7 [ 0.0 433 11.3] 10.1 8.2 19.9 5.5 19 69.5] 2. - 13 110 123
N ; ; X 8H21H = 22.6 0.4  22.4 3 GV —7 1.3 305 1L6 6.2 202 248 2.8 2.8 753 2. 23 150 173
56| 54U H IR 7= 8 fids) & — -
AR s il 104200 | 14.3 0.4  14.6 5 G —7 0.0 2.7 6.0 6] ero] 0.7 147 0.4 s7.2[ 2l 30 220 250
AR | W 7.4 0.3 6.3 3 GV —7 0.0 8.6 3.3 2.5 8.9 44.6] 243 7.9 ar5]  2.603[onk-w 21 210 231
4 551230 [ 237 39.1]  20.1 3 HEA Y — 74 0.0 136 19.1] 1o.1[ 344 10.4 2.2 L4 67.8]  2.569] - @ <4.0 5.2 5.2
K . . 8H21H i 20.5]  32.4]  20.6 3 [N 0.0 10.2 7.6 200 3.7 149 10.0 5.7 76| 2,623 - 2.0 16 18.0
57| | KA A S B A B
K & 104210 | 4 16.4  25.8] 149 5 R 0.0 1.2 0.3 11 1.7 207 s3.2]  19.0[ 310 2.372] vk 11 64 75
12H16H | 4 3.7 26.5 5.5 3 e 0.0 2.9 9.1 6.3 233 24.6] 26.7 7.2] 457 2.506[w-nrem <8.0 35 35




WE - KR (JRE) 2/2

JEE
R AR
" Sl | ek — HS A TTIREE [Ba/ke (H7®))
BRIA Kz C . REFERLEE (%)
© @ | R | e i 54 e I S AT D X i
No. |Adks Hi 54 HETAT (C) (cm) MBSy | hEgsy | sy | MRSy | REbSY | MIEbSY (v oy RiEsy | (%) (g/cn®) ) Cooi3a | Co137 ey
S~ S— )i
51211 i 23. 4 0.5  23.3 3 T/ 0.0 9.8 13.5]  16.9] 382 14.3 2.2 5.2 63.1] 2.577[@-nk 92 620 712
. o . 85124 i 25.6 0.4  24.8 3 i 0.0 0.2 3.4 10.6]  43.9]  29.4 7.1 5.3 56.1]  2.568[w-m-snr 140 1,100 1,240
101180 | % 16. 1 0.3 16.4 5 7 0.0 0.8 3.5 14.4]  55.9] 215 11 2.9 763 2.631 - 32 300 332
AR | B 7.5 0.2 5.7 3 7 0.0 19 6.3 158  49.5] 211 2.4 3.0 77.6]  2.650( @ - B 15 420 165
5126 H 2 16.3  30.7] 116 5 71 0.0 0.0 0.0 0.0 0.1 0.2  53.8[  45.9] 270 2.485] -k 83 530 613
% 8H24H [ 267 17.7]  18.5 5 71 0.0 0.0 0.0 0.2 0.7 3.3 s34 425|200 2511 vk 16 150 166
59 PR 204 - s . . . . . . . . . . . . .
j‘ﬁ = Vi 104200 | 12.7] 212 15.3 5 71 0.0 0.0 0.2 1.2 1.2 1.3 55,7 40.5]  27.6]  2.485] v b 16 150 166
x 120140 | W L5 186 6.8 5 T/ 0.0 0.0 0.2 0.4 1.2 22| 60.4]  35.5]  27.5[ 2.500] R <10 150 150
. . - 55250 i 16.5 0.8 20.2 3 # # o0 159l sl ir3[ | 145 137 9.4 50.9] 2.708 # - 18 140 158
so| B llwksn |xavar |pi —
” *g it 104180 | & 15.6 0.5 18.0 5 i IR 0.0 249 241 125 13.8 9.1 12.3 3.3 a4 2,720 BE- W 4.4 34 38.4
g . . . . . KA Y — # 0.0 280 145 125 19.7] 12,9 7.0 5.6  44.6]  2.531 - & 21 120 141
#l e I PRV - 55250 i 15.8 0.5 20.5 3 KAY —7 2
. * £ 10720H i 13.6 0.4 15.3 5 AV T8 R 0.0 25.5 30. 6 18.0 18.4 5.3 1.0 1.3 79.1 2.680| - <5.0 29 29
K T 5/125H i 14.3 0.7 19.2 3 ) I3 0.0 286] 23.4] 14.0[ 119 6.7 117 3.7 38.4] 2,630 # - 55 360 415
A * . . 85281 = 19.2 0.8 20.2 3 K 1 IR 0.0 20.1] 279 19.0[ 161 6.0 8.0 3.0 780 2713 BE-# 20 160 180
62| B mrs s |#ava b |asit = - - - - b - - - - - - - - - -
i 2 R i 0H17H | 1 14.1 0.6  13.5 5 [N e 0.0 310 258 10.5[ 10.0 5.1 116 3.1 75.5]  2.681] M- @) 34 320 354
J RA1A]| B 5.8 0.3 8.0 3 7 0.0 5.4 1n7] 157 428 179 3.3 3.2] 78] 2.760[ - 7.3 36 13.3
7; 55290 [ 18.7] 359 8.4 5 T/ 0.0 0.0 0.0 0.0 0.1 Lo 375  61.4]  30.6] 2.599] +k 300] 2,000 2,300
n . . - 85129 H = 25.7] 311 12.3 5 T/ 0.0 0.0 0.0 0.0 0.0 Lol 279  7ia[  30.1]  2.550[ vk 250] 2,100 2,350
63 t N N + = _ ) §
iy O A AL T ST T 12,00 313 12,3 5 KAY —7 T/ 0.0 0.0 0.0 0.1 0.1 0.6 255  73.8]  30.1[ 2577 -k 210 1,700 1,910
RA1A]| B 3.6] 314 8.2 5 R T/ 0.0 0.0 0.0 0.0 0.1 0.7 332 661 311[ 2547 2k 110 1,000 1,110
5/125H i 15.8 L5 212 5 GV —7 8 T/ 0.0 0.0 0.0 1.7 6.4 1.4 422 452l 15.6[ 2038 Tk 140 930 1,070
; ; X 8H29H = 30.8 L1 280 5 H4E T/ 0.0 2r7] 250 13.5[ 13.2 5.9 7.7 130 s52.8]  2.512[vnromee 17 190 207
64|55 =13 wn £k =
& i i 104180 | 1 12.7 Lol 162 5 R i 0.0 215 19.1 9.4 8.9 6.1 251 9.9 32,0 2. B 56 420 476
127100 | W 9.8 1.0 5.2 3 R T/ 0.0 7.3 160 144 204 169 9.5 6.6 536 2695 W 100 930 1,030




B ITE - KRR (RO BREE) 1/2

B DB (L, 2R
%my@ 5 — 7 y T [RTVR B
SN f/\
o Rl j: —
A R (°Cm)l —f%HEH
HORVER R IE [Ba/ke (B2
No. |Addit 5 . ! . E Ba/kg(o)] [, #
e UG i TEIE THTET S 5 1 i fi s
o1t | osaa7 | & |
5 = - 2
) \ H9H I 13.4 e Mt BE 94 720 -
44 T A AP A R 8H16 H 2 19.5 = TN W 814 0.08
10H280 | £ 12.6 A8 WL | BE Ll 730 817 0. 08
S BTV TN “09]  mHm o R 81 630 701 0.06
BN SR — = %%% féi %’%ﬁ 100 810 910 0. 06
AN . =
15 LA P VAt 8A15H | 0o ER E&i ig 188 810 910] _ 0.06
10 & - — 750 850 0.0
H24H HHA 17.8 A8 1 T 110 550 6
124 20H £ 3.6 A T 970 0. 05
it 5116 H I 13.4 e ;&i %,% 1001 10000 1,100 0. 06
. : 2
46| | [mrra P U S P 8HI17H & 20.9 AR TN i’g ?2 ?51*8 666 0.05
| = : = 126 ,
J 10H24H fiig 14.1 Hig pran B o . 0.05
A 124180 | = > 8 ) T 90 214 0.05
al ® |pan A bAZA | W 23,0 A . T - 350 J96;  0.04
104260 | 5 18.0] AV—74 | ML i; - " b2l 0.0
ok 5A2h i 7.4 7 = 8.5 12 12§ 0.04
3 . Bk . H wt Bg 33 190
w8 R BHD 8HILH | & 21.9 ) p 223 0.04
H — - e | E 18 150 1
10H26H i 16. 8 LA, y 68 0. 04
) ’ Mt | SEH 22 150
P 12H18H I 4.1 H p 172 0.05
= i . it HH 15 130 145 0
[ 16H i 20.0] ChvRB | mt | mE e - 04
| 49 fE DR |HH ot 8H17H i 23 4 B ey o o 160 178 0.04
104261 I 19.0 ) - ;; 130 144 0.05
PERCE 2.1 T f”ii if‘g = 110 52| 0.04
SHLTH | W 17.4] W . T 2 150 165 004
50 Y 20 NI PN R g N 8A418H N 206 TEvEE | mL i’g 21 130 157 0.04
10250 | & Bl RER - — 14 84 98] 0.06
= ’ 1 Mt | SEH 11 110
nzeny  P2A19R] = 2.3 = - - 21 0.05
5H17H 5 p — _ - —[BITIED%, RICTE T
EN H 19.8 R 1 g %, BREUCE T
51 g BRI A 2 LA R 8H18H W 219 ) %{i i”g 42 330 372 0.04
) 0H250 | 2 113 e v = 90 620 710 0.04
= . == wt Bg 62 5
x AR = 3.2 ) o | mE 90 652 0. 04
~ 5H20H I L] ChvEB | il | BE 8. 3 21 24 0.04
52 E) I H LA K 8H19H i 20. 1 = ey ; 96 700 796 0.04
oA = ! L 51 350 201 0
Pk 27H i 15. 4 LA p — .04
: ’ i 40 340
AR = 0.8 o T 380 0. 04
53 CUTEN 5 1A b 55200 | W 8.7 B y e i 330 365]  0.04
- Pl | RWE 75 560
10H27H i 18. 0 A5 T W 635 0.05
H 40 270 310 0. 04




B UR TYE - kIR (B0

EebE) 2/2

/'1_‘<'
B HHb — JED BB (15, Z2 )
,, - 3
RHA | KfE %“é"?l T
No. |Abis 4 — e s \ B VE BB [Ba/ke () ] i
[ M| IR BT > ¥ WAL L
7 5H 20 H i Cs—134 | Cs-1 e wSv/h
) 23. 4 ) - s—137 &k
54 i B0 i (& R
" wrn |woavqr |pger |RASH L R T RS T ig 41 300 a1l 0.05
z 102208 M 16.6 =) b 1 31 180 211 0. 04
- 12A17TA | 24| CavER | @ 18 150 168  0.04
K SAZH | B Bt | S 36 270
ss| Xl papmrn |pa 52 a 25.5 s 18 WL | B 306]  0.04
% H A b 1A ] 21.6 % g 26 240 266 0. 04
il 0A210| & fct: | B 5.7
= 14.4] RS y — ' 38 43.7 0. 04
12/ 16 B - Mt | SE 9.4
= ZSUE £ 6.8 K18 WL | mE = 81 90. 4 0. 04
= - =
56|53 H IR 7= it . ST2LE il 29| wavEe | mt | mE = 67 79 0. 04
H = 22. 6 et e R 450 505 0.04
101200 | i 14.3 e o 20 220 240 0.04
7 e [12H1AB | WE L R 26
o s h RN A 7.4 FET TN R - 260 286 0. 04
fig 23.7 i y — 9 180 199
571 )11 | ks N : 18 T - Y 0. 04
e 5 1A b 8H21H | W 205 B - — 45 300 35 0.4
X 0A210 | & = Pt | HE 18
S = 16. 4 L s p 110 128 0. 04
152)5112146'? £ 3.7 ] T 11 95 106]  0.04
; il p — 5 14
] IR i 8/ 21H 2.4 W Wt | 32 i oL oo
A ] il 25. 6 8 TN DR 260 292 0.05
. W0H18H | & 16.1] (ChVER | 4 o 35 210 245]  0.04
X 12A140 | 1 - Pt | B 25
TR 4 5261 H;; .5 i) Mk | HE 18 o D 0.%
| 59| m |BEX A 5 1 ST 21T = 16.3 ) T - %;; = 150 168 0. 04
it A b iy I 26.7 ) T 220 253 0. 04
I 10200 [ i\ 12.7 ) v = 4l 250 291 0. 04
X AR | & ot | SRE 26 260
60| |k 4 5 1 53125 H Loy i (1 20 o
A~ YR i 16.5 IR T - 220 240 0. 04
= 0
- & 15.6] K8 g 770 880 0. 06
61 g . it [
5 2 ZaH b ey p2A2ei | 58| W o é;; 23 250 273] 0,04
- 150§2250 ua i 13.6 B o |k ;g 590 660 0.04
2| & ugrrs  |xa . [sAzn — 3 L L | b 240 o0 e
i) OO =P = 19. 2 et TN 1,900 2, 140 0. 06
i 10/17H G = U 64 470
. o il 14.1 A Fran S 534 0. 05
; = 21915' i 58] i T ;2 360 402 0.05
* i 18.7 p = 2 240 263
63 Ly . : A ) Tt T 0. 05
pEg s | Fna h by [2H290 | 25.7 E%g - S 180] 1,400 1,580  0.10
10H17H = - HE 170
Hi§ 12.0 g T T 1, 300 1,470 0.10
121110 [ 3.6 ) s ig 240 2, 000 2, 240 0.09
5/25 = i ‘
64{ 15 27 w B e 58] R Wt | e YT W BT
At EESN H| = 30. 8 ) o 0f 1,400] 1,610/ 0.14
10H 18H = Pt BT 130
U5} 12.7 Hig p 970 1,100 0.10
12);] sy . 17“1&]‘: ifi%ﬁﬁ
10H [ m 9.8 [T - 180]  1,500] 1,680 0
o - B > .13
= 180 1, 600 1, 780 0.13




B R OKE)  1/2

e KE
PREHUH A s - T I I

EE Ff R | KR —EEH TS PE R (Ba/L)

No KA © | @ | ki | pRkiE i am | BUE | oy | s | wE e > 7 A
) - 0 (m) e (m) (%) | mg/L) | () | cs-134 | cs-137
5. . K B D Bk 31.6 . . 62 <0. 6
e AR A D Y e s e
e | w | wd) o HOROORE R % N T AT I

65| S AMIVETE (2. [ a : : S— : : : :
i (2) kit EIE " . 14.9 0.5 VO K A Dk 30. 1 1 0.6 €0.91 <0. 88
FJ#E 1SR 3 13.7 19.0 15.3 18.0 - 48 33. 1 3 1.1 <0. 89 <€0.92
i il I O I W N 0 Y Y Y| AT T

L 5| R 2 o O Rk 31. . .76 <0.
i il A Ot IOk ' S — S T Y Y I AT

. UK 20D Bk 26. 6 .6 . 8¢ <0.
7 kA e I ' T R 7 | I I

66| 5B PN=E AL - . _ _ J - . -
Al () R EIE] " 0 ; 14.2 0. 5] WFWNK 7 D 5 % 7 O ik 29.0 <1 0.7 0. 87 0. 69
FJE HI5H 1 13.6 38.0 14.9 37.0 - 9.5 32.9 2 0.9 €0.73 <0. 55

. K B D Bk 21. . . 62 <0.
S | w | e oo HROORE A S R R R
.9 L5 VK D O ik 30. . NE 0. 6
i il A LRIt W T R 5 Y ¥ AT I

67| HEAR AT 11 th AR A o - : - - . . .
i t i f EIE] . " . 11.4 0. 5] WFWK I D 5 % 1 O ik . 33.1 <1 0.4 0. 61 <0. 80
FJ#E 111300 3 o1 1.2 12.0 10.2 - o112 33.4 <1 0.3 <0. 58 <€0.75
A e —— e

. K D . : : . <0.
S emn | W | e w2 R T Y Y| T I

68| O th 0> 4x 1 S i B (=R : : — : : : :
ol e BB (=80 EIE . " 12.5 0.5 KUK B Dk 21.0 1 0.7 €0.77 €0.75
FJE HI16H 1 8.7 17.8 13.6 16.8 - 48 33.5 1 0.5 <0. 68 <€0.92

. . K D O Rk 31. 2 . . <0.
g Al I e Ot W N S — R 0 A AT I

20. ¢ . I UK A2 D B 30. < . .6 <0.
i it I ke W N e T Y ¥ AN I

25. . UK 20D Bk 30. : 2. .76 <0.
i kil I e T | N S I | AT I

69|45 1 i HM-6 (% - - —— - - - -
ARG (75) P ) EIE] . " . 13.3 0.5 KUK B Dk ; 31.6 3 1.5 <0. 89 €0.75
R 11A16H It 11.5 3.7 W W - >3.7 3T > 3 068 081

) R K ik 29. : 2. .76 .
i il I e O W I ok T | I

R K ik 20. 2. .6 .
i it A ke S, | N R Y ) N T

. K B D Bk 20. : . .69 <0.
i kil A e O | R T Y Y I I

70|43 K S gk (2.- 3 AT . - - : : . :
B ) et EIE] . 12.2 0. 5] WFWNK 70 D 35 % 7 O ik 20.5 4 3.0 €0.75 <0. 80
FJ#E HALTH & 38 8.1 14.7 7.1 - 1.8 31.8 7 5. 1 <0. 84 <0. 80

. . K D ik . 2 2. . <0.
F e | # | oo sp——p——HORd e I S I I T

. . K D ik : 3. <0.
F{emn | w | ma) ws g HORd O Y Y R Y RN
25. . UK 20D Bk 2 . .52 <0. 6
7 kit A ke G W B R 0 Y Y I I

71| 1 et (P9) RS - - - - - - -

. VK 22 Dk 29. 2 2 .6 . <0.
%E LA 14H 7 14.3 14.9 13.3 0.5 F K B Dk 3.9 29.2 2 1.6 €0.75 0. 84
FJE 15.5 13.9 - 32.4 5 3.9 <0. 68 <€0.75
5. L5 VK 2D O Rk . . <0. 92
%E 2H6H " 17 14.6 6.0 0. 5| WEWR D 3 A % i M ek 75 26.6 1 1.4 €0.74 0.92
FJE 7.5 13.6 - 31.5 3 2.8 <0. 65 <0. 63




B

N

i OKHE)

PRI A
FRIH Sl | K
A < | W R —HoR AR
- K P — R TR EOR % (Ba/L)
- 5H20H & T i3 FHEE v A
;E LB 22. 14.2 g 0.5 R0 Bk (%53 mg/L) | () Y] p—pT fii =
Iz . 13.2 . 30.0 3 5 5 :
N - 3 8423 5 ; : : <0. €0. 84
i (2) ik ;é Hl 2 29, 12.8 ; 10.5 WK 70 B iii 18 10 <0. 20,69
. 1.8 - . 4 : - -
- A4 | & N _ 07 1.3 <0. 0. 74
F g = 14. 13.5 : 0.5 BEVSR A0 % ROV fi . 8 0.7
Ey ) 25 H Ok 3.2 3 <0. <0. 66
T i@ 2H6H 9 . 9 0‘5 - 21 2.2 <0. <0.75
ﬁg . 13.2 = : JK 22D ik o 5 4.0 <0. 20.75
JeE . 12.2 _ 31.8 9 d
I B 18.6 1 IO E 32.0 e <0.81
ﬁé . 18.7 - - . IR D Sk ZbA 7 5 4.0 <0. <0.92
. 7.7 _ 26. 3 2.5 -
73|l Mk i S . - 8422 oo . - - <0. <0.75
BRI () [Pars-4 7 ;é ; 23. 19.4 ? 10-5 TV K 2 0 Bk igg 5| 4.5 <0, 20,92
. 8.4 _ 25. <1 0.5 -
g 11A14H 5 : <0. €0.75
;é & 10. 18.6 § 12.5 VRO 3(2)‘; 6 4.9 <0. 0.2
. .6 _ . 3 9 9 n -
g 2H6H % _ A 3 0 _ YW 2.2 <0. <0. 84
ﬁé . 19.0 - . K D ik zsA 5 6 4.6 <0. 20,92
. 18.0 — 28. ¢ 9 -
] A0 | 19.6 .6 0.5 = 315 - 0. <0.88
ﬁé - 17.7 - - . TR 7 O Bk ZSAb 10 9.0 <0. 20,84
- 6.7 — 25.6 3 2.5 -
T4l B e S e - 8122 a2 09 & 3 : <0. <0.61
BRI (2) [ 3 ;}2 Bl 22.6|  17.0 ) TV R 50 Bk 20 [ I <061
. 6.0 - 27. 1 0.2 - -
- 11H14H a2 - : <0. <€0. 69
;}2 & 9. 17.1 ; 12-5 WK 2 Dk 33‘7‘ 2 1.2 <0. 075
. 1 - . 1 ; - -
- 2H6H I s 9 — 2.6 1.2 <0. <0. 80
NE] 2. 17.5 2 0. 5| BEV VK 220D 1 2 % B O i . 4 3.9
n Ey ) 6.5 M A OV ok 5.6 O <0. <0.75
i) e RUECEN L 17 2 0 S 07 0.5 <0. 20.69
)= ﬁé . 5.5 = : B\ K A2 0D Bk 19‘ > 3 2.3 <. 2075
. 4.5 _ . 2 4 2.9 -
75| Z D> i - 8H23H a2 o 56 : <0. <0.75
oS |5 ;}2 = 23, 7.0 T BN 23 5| 3.0 <0 075
. 6.0 — 23. 3 -
= 1A13H 4 7 0. 5] 1K 31.8 2 0.7 <0. <0.84
= - 4.5 . 3- - N K B 0D I e B O ok 15‘ - 0.7 <0. 20.74
- . - . 3 CED
T i@ 2H8H 0 3 G 2.3 2.2 <0. <0. 88
- B - 4.8 — - JK 2D Hihk = 5 3.4 <0. 0. 84
=l . 3.8 _ 27.8 8 - -
I R 16 o5 29.3 L <0.99
- E - 9.7 = : IR 20 Biik . 9 6.4 <0. 0. 80
JE . 8.7 _ .6 6 P -
| 613H | W 19 0 oF _ ‘ 08 3.1 <0. 0. 80
ﬁé . 10.6 5 9' K B Dk 23‘ 5 1 0.5 <0. <0. 63
. . 6 — . 1 " -
o] TI4H & 2 . .2 0.5 = 31.6 - 0. <0.75
ﬁé : 10.2 n 5 VK B Dk 15‘0 <1 0.2 20. .63
. .2 _ . 4 2.8 .
- 8H22H 7= ’ : <0. <€0.80
% E e 27. 9.7 ‘l* 0.5 WV IR 70 Bk igi al 0.6 <0. 0,80
. 8.7 = 25. - 1 0T .
76| BT 1T 117 . : o - . <0. 9 2.
TR 1T 7 1 BT 113 1 EE A s6.5| 105221 5[ MOKZOHH E BT 20 [ 26 < e
e -1 9.5 - — 19.7 6 3.1 - :
: 104108 | & ’ : <0. <0.66
% E = 24, 10.7 2 8-5 WK 7 DR igi al 0.5 <0. 2070
: .7 _ 5 9 - .
NE 1LA17H 8 \ 3.8 0.5 - 31.4 L2 <0. <0.69
ﬁé : 10.0 - 5 VK B Dk 24‘ - 1 0.6 20. 069
. .0 — . 2 n -
T ] 12ATH 5 X 3 05 = 32.7 - 0. <0.75
ﬁé . 11.0 " 10' BEVN R T D ik 31‘7 4 1.5 <0. <0. 63
. .0 _ . 9 i
NE 1A20H 4 .5 0.5 e 32.2 - 0. <0. 55
ﬁé : 9.7 5 . VK B Dk 26‘0 6 2.0 20. 7
d L7 _ . 5 : -
NE] 2A8H 4 ) 1 0.5 % 33.0 =L 0. <0.61
2l . 11.0 : : JR I D E I Ok — 2 1.0 <0. 2018
. 10.0 — ;Z 7 2 L9 <0. 20.88
-0 2 1.4 <0. <0.75




B RE URE)  1/1

[
PRI amn | e | | Akm [ — WoRE R PED PO % (Ba/ke (Wal) )
No. Kk ) (m) JEiR | FRIETE @ HELEERAAR (%) Bt o A fif 5
(©) (cm) HEESY | Ey | S | Sy | by | dRbSy |2ov b oy| Kty (%) Cs-134
51221 [ 22.1 17.1 10. 5| 8 0.0) 0.0 0.0) 0.2 1 8.2 55.4]  24.6]  33.7
ol (2) s 8525 [ 2.4 170l 2L0 5 '{%%‘F/Ji 0.0) 0.0 0.0) 0.1 3. 20.8] 6.7 282 416
LI5A | W 13.7 19.0 14.5) 10 HARILAR 0.0) 0.4 1.8 7.6 0. Xi
2540 [ 3.0 16.2 8. 5] 3 TR 0.0 6.0 7.7 10.2 7 3.3
51221 [ 21.8]  37.7 9.6 10 HARILAR 0.0) 0.0 0.0) 0.0 .8
o6l () F— 8525 [ 27,0 38.0 18.0 5 M 0.0) 0.0 0.0) 0.0
LI5A | W 14.5) 8 LA 0.0) 0.0 0.0) L5
2540 [ 7.6] 3 HCF A 0.0) 0.0 0.0) 0.1 2.605] Lk
P [ —— U — 5)1;4\\ £ 12. 3] 5 0.0) 0.0 0.0) 0.2 2.726 i <0.79)
LUI30A | Wi 12.2 6 0.0) 0.0 0.0) 0.2 2.738] @b <0. 78]
5/123R [ 10.7 8 0.0) 0.0 0.0) 0.0 D
68| 2 ol o> 2t ) 8)]25»\\ [ 19.7 5 0.0) 0.0 0.0) 0.0 Wk
LUI16H | Hf 14.7 10 0.0) 0.0 0.0) 0.0 Lk
2] 7H [ 8. 6] 3 4 U —78 0.0) 0.0 0.0) 0.1 Wb
5/123R [ 17.0) 5 A A 0.0) 0.0 0.0) 0.1 [t w
ot s o 87240 [ 24.6 5 AU —TH [ 0.0) 0.8 1.2 1.0 Tk
69|71 % s JE R (79) TAHIM=6 (BRR) e e 13.3 10 F)—7 K 0.0 1.4 0.7 0.9 [onrw
2] 7H [ 3.7 3 GV —7 [ 0.0) L7 1.3 L5 Sk
5/123R [ 13.2 6 ) [ 0.0 0.0 0.0 13.2 i <0.
ol e (2-3) e b 8)]24}\\ aﬁ 23.3 5 {8 [ 0.0 0.0 0. 4] 4.5 i <0.
wHITH| % 14.1 5 {8 [ 0.0 0.0 0.0) 0.9 i <0.
25191 £ 1.8 3 248 0.0) 0.0 0.0) 1.2 <0.
5/120R [ 12.4 8 248 0.0) 0.0 0.0) 0.1
ot s e 8H23H [ 21.5 5 AV —7 8 [ 0.0 0.0 0.0) 0.0
THTEIL T () i 117141 & 14.8 5 HBIR Fig 0.0] 0.0 0.0 0.0
in 216 [ 6.1 3 4 U —78 0.0) 0.0 0.0) 0.0
s 5/120R [ 11.9) 10 0.0) 0.0 0.0) 0.0
— 8H 230 £ 23.0 5 4 U —78 0.0) 0.0 0.0) 0.2
a 117141 & 14.1 8 2 0.0] 0.0 0.0] 0.2
2560 [ 1.6] 3 4V —78 0.0) 0.0 0.0) 0.1
5/120R [ 9.9) 8 0.0) 0.0 0.0) 0.0
7l e et () p— 8H 220 aﬁ 2.2 5 0.0) 0.0 0.0) 0.0
A | % 15.7 8 0.0) 0.0 0.0) 0.0
2560 [ 3.7 3 0.0) 0.0 0.0) 0.0
5/120R [ 10. 3] 10 0.0) 0.0 0.0) 0.0
2l e (2) P 8H22H ;: 21.1 5 0.0) 0.0 0.0) 0.1 2.552] 2 b
A | % 15. 8| T 0.0) 0.0 0.0) 0.0 E
2161 [ 1.1 3 0.0) 0.0 0.0) 0.1 R 2655 v b -
5/128R [ 16. 4] 5 0.0) 0.0 0.0) 0.1 . 3 2,647 @b
sleomosmkmg |5 8H23H £ . . 22.6 5 0.0) 0.0 0.1 5.1 .1 2,641 @b <0. 60)
L3R | W 1.6] 4.5 15. 0) 5 0.0) 0.1 0.9 10.4 .4 2.655] b <0
2518H [ 1.8 5.2 3 0.0) 0.0 0.0) 1.8 .3 . 5| W
5/125R [ 9.7 15. 3] 6 0.0) 0.0 0.0) 0.0 .1 51 R 2.695] @b
61130 [ 10.6 14. 6] 7 0.0) 0.0 0.0) 0.1 .4 50. 8 ¥ 2.788] i)
TH4H £ 10.2 5.2 6 0.0) 0.0 0.0) 0.0 .0 55. 1 .5 2.715| @
87220 £ 9.7 2 5 0.0) 0.0 0.0) 0.0 .0 5.8 5. 8 2.716] @
26| T O WIRBNT 7 9Ji8H aﬁ 10.5 T 6 0.0) 0.0 0.0) 0.1 .3 .6 .0 2.706 W
0100 & 10.7 9.5 5 0.0) 0.0 0.0) 0.0 .0 3.3 .9 2.758] b
LAHLTA | W . 10.0 5.1 6 0.0) 0.0 0.0) 0.0 .1 .6 9.0 2.730] @
12A7H [ 5. 11.0 .1 5 0.0) 0.0 0.0) 0.0 5.7  83.6 7.8] 3.0 2.695] @b
17201 [ 1. 9.7 8.7 7 0.0) 0.0 0.0) 0.0 10.7]  80.3 6.1 3.0 2.696] @b
2518H [ 2.0 110 7.7 3 0.0) 0.0 0.0) 0.0 2.2]  75.8 18. 0] 3.9 2,717 W




A ] MR

ot V S WEE i |
PN el LT

o L 0
RoAlRER

38 ) L EER
@7_. 35.,

i ::,,..‘:"l

sal)1|
58 KR
BE




